
CHEMISTRY

BOOKS - BRILLIANT PUBLICATION

CLASSIFICATION OF ELEMENTS AND PERIODICITY IN

PROPERTIES

Level I Homework

1. 'Table of valences and 'Atomic Volume Curve were contributed by
 (1)

Julius Lothar Meyer
(2) H.G. J Mosely
(3) W.L. Bragg
(4) G.T. Seaborg

A. Julius Lothar Meyer

B. H.G. J Mosely

C. W.L. Bragg

D. G.T. Seaborg

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bFf8bWCwnLgb


Answer:

Watch Video Solution

2. The law of triads is not applicable with

A. Cl, Br, I

B. Na, K, Rb

C. S, Se, Te

D. Ca, Sr, Ba

Answer:

Watch Video Solution

3. Among the atomic volume curve, alkali metals occupied _____

A. Peaks

https://dl.doubtnut.com/l/_bFf8bWCwnLgb
https://dl.doubtnut.com/l/_jxzudcT6D82J
https://dl.doubtnut.com/l/_nHS8NsiBrf5A


B. Troughs

C. Ascending slopes

D. Descending slopes

Answer:

Watch Video Solution

4. Law of Octaves was put forward by

A. Mendeleev

B. Moseley

C. Lothar Mayer

D. New land's

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nHS8NsiBrf5A
https://dl.doubtnut.com/l/_4x27QvR39rOo
https://dl.doubtnut.com/l/_ejFdpXfsLfCi


5. Eka Al and Eka Si predicted by Mendeleev was

A. Sc, Ga

B. Ga, Ge

C. B, Ge

D. Ga, Tc

Answer:

Watch Video Solution

6. Which of the following is not a merit of Mendeleev's original periodic

table? 

a) Prediction of undiscovered elements and their properties 

b) Correction of atomic masses of a few elements 

c) Systematic arrangement of elements based on atomic mass 

d) Similar elements were placed in different groups 

https://dl.doubtnut.com/l/_ejFdpXfsLfCi
https://dl.doubtnut.com/l/_4yJbXpDUpc9H


e) Separate positions are given for isotopes 

f) Order of increasing atomic weight is not observed. The correct code is

A. a, b, c

B. a, b, d

C. d, e, f

D. c, d, e, f

Answer:

Watch Video Solution

7. In which of the following compounds, manganese shows maximum

radius

A. 

B. 

C. 

MnO2

KMnO4

K2MnO4

https://dl.doubtnut.com/l/_4yJbXpDUpc9H
https://dl.doubtnut.com/l/_7lIfO4UClnwd


D. 

Answer:

Watch Video Solution

MnO

8. The bridge elements in Mendeleev's periodic table are

A. Mg, Al, Si

B. Li, Be, B

C. B, Si, As

D. Zn, Cd, Hg

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_7lIfO4UClnwd
https://dl.doubtnut.com/l/_ceuN12Wa6jcn


9. Which of the following is/are wrong statements? 

a) Alkali metals, alkaline earth metals and helium are s-block elements. 

b) Pnicogens and halogens are p-block elements. 

c) The first member of the lanthanide series is lanthanum. 

d) The lightest liquid metal is gallium. 

e) Group 17 contains no metals. 

f) Elements whose atoms have two outermost shells incomplete are

called transition elements

A. c, d

B. a, c, e

C. a, d, e

D. All are incorrect

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Tg6hJ0kvwCiZ


10. Match the following 

A. i-c, ii-a, iii-e, iv-d, v-b

B. i-a, ii-c, iii-d, iv-e, v-b

C. i-c, ii-a, iii-b, iv-e, v-d

D. i-a, ii-d, iii-b, iv-c, v-e

Answer:

Watch Video Solution

11. Total number of elements accommodated in period 6 and group 3 are

respectively

https://dl.doubtnut.com/l/_cnYMxseJJ2Nu
https://dl.doubtnut.com/l/_sJEx4Q8DWtNH


A. 32 and 32

B. 32 and 18

C. 32 and 4

D. 18 and 18

Answer:

Watch Video Solution

12. Which of the following is not correctly matched?

A. Z = 80 Period 6, d block Gr 12

B.  Period 6, f block Gr 3

C. Z = 74 Period 6, d block Gr 5

D.  Period 7, d block Gr 4

Answer:

Watch Video Solution

[Xe]4f 75d16s2

[Rn]6d25f 147s2

https://dl.doubtnut.com/l/_sJEx4Q8DWtNH
https://dl.doubtnut.com/l/_JXgjUbxn8ugz


13. Which of the following ions have electronic configuration 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[Ar]3d7

Mn3 +

Co3 +

Fe3 +

Ni3 +

14. An element recently discovered is Moscovium (Mc). Its group number

and electronic configuration are respectively

A. 

B. 

C. 

13, [Rn]5f 146d107s27p1

13, [Rn]5f 146d107s2

15, [Rn]5f 146d107s27p3

https://dl.doubtnut.com/l/_JXgjUbxn8ugz
https://dl.doubtnut.com/l/_onA768455TMm
https://dl.doubtnut.com/l/_OW2SjuBy4ki3


D. 

Answer:

Watch Video Solution

15, [Rn]5f 146d107s27p1

15. Which of the following set contains atomic number of only s-block

A. 55, 12, 18, 53

B. 13, 33, 54, 83

C. 3, 20, 55, 87

D. 22, 33, 55, 66

Answer:

Watch Video Solution

16. Typical elements are

https://dl.doubtnut.com/l/_OW2SjuBy4ki3
https://dl.doubtnut.com/l/_TJUpx5NT8QwF
https://dl.doubtnut.com/l/_9qq4NjWTib2S


A. Second period elements

B. Third period elements

C. Group 17 elements

D. Group 13 elements

Answer:

Watch Video Solution

17. Which of the following order of atomic/ionic radius is not correct

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Li > Be > B

I − > I > I +

P + 5 < P + 3

Mg2 + > Na+ > F −

https://dl.doubtnut.com/l/_9qq4NjWTib2S
https://dl.doubtnut.com/l/_A8gurBt2CHaW


18. The correct order of variation of ionic radius is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

F − < O2 − < N 3 − < Na+ < Mg2 +

F − < O2 − < N 3 − < Mg2 + < Na+

Mg2 + < Na+ < F − < O2 − < N 3 −

N 3 − < O2 − < F − < Na+ < Mg2 +

19. The amount of energy released for the process

 is minimum and maximum respectively for 


a) F 

b) Cl 

c) N 

X(g) + e− → (X) − (g)

https://dl.doubtnut.com/l/_A8gurBt2CHaW
https://dl.doubtnut.com/l/_808h04c9jpLm
https://dl.doubtnut.com/l/_hDUWsEwog3Fe


d) B 

The correct answer is/are

A. c and a

B. d and b

C. a and b

D. c and b

Answer:

Watch Video Solution

20.  of an element are 1680 and 

respectively. Its electronegativity in Mullicken scale is

A. 10.4

B. 3.7

C. 8.5

ΔiH1 and ΔegH1 −329kJmol− 1

https://dl.doubtnut.com/l/_hDUWsEwog3Fe
https://dl.doubtnut.com/l/_BkAuhzgNERNf


Level I Assertion Reason

D. 6.4

Answer:

Watch Video Solution

21. The value of E.N of atom A and B are 1.2 and 4.0 respectively. The

percentage ionic character of A-B and bond is

A. 50

B. 72.24

C. 55.3

D. 43

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_BkAuhzgNERNf
https://dl.doubtnut.com/l/_JFABg7Iu9MYs


1. Assertion : Modern periodic table is also called Moseley's P.T 

Reason : Moseley proposed the relation 

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

D. If both assertion and reason are false statements

Answer:

Watch Video Solution

v = [a(z − b)]2

2. Assertion : f-block elements are called inner transition elements 

Reason : Lanthanides and actinides are inner transition elements

https://dl.doubtnut.com/l/_rPNsofWT3hW5
https://dl.doubtnut.com/l/_hXl6isJJKicx


A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

D. If both assertion and reason are false statements

Answer:

Watch Video Solution

3. Assertion : Ionic radius of  


Reason : Both are isotopes

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

35Cl− < 37Cl−

https://dl.doubtnut.com/l/_hXl6isJJKicx
https://dl.doubtnut.com/l/_e4JbejPLsoDl


B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

D. If both assertion and reason are false statements

Answer:

Watch Video Solution

4. Assertion : EGE of oxygen is less -ve than that of fluorine but more -ve

than nitrogen 

Reason : lonisation enthalpy follows the order 

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

N > O > F

https://dl.doubtnut.com/l/_e4JbejPLsoDl
https://dl.doubtnut.com/l/_8enk8RNbvfYA


D. If both assertion and reason are false statements

Answer:

Watch Video Solution

5. Assertion : The E.N varies with hybridisation in the order

 


Reason: As the s-character increases, the E.N also increases

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

D. If both assertion and reason are false statements

Answer:

sp3 > sp2 > sp

https://dl.doubtnut.com/l/_8enk8RNbvfYA
https://dl.doubtnut.com/l/_82whHp0q18gL


Watch Video Solution

6. Assertion : lonisation potential of  is greater than He 

Reason : Zeff of  is greater than He

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

D. If both assertion and reason are false statements

Answer:

Watch Video Solution

Li

Li

7. Assertion : Size of  is larger than  


Reason : Number of electrons in  is more than 

Ca+ 2 K +

Ca+ 2 K +

https://dl.doubtnut.com/l/_82whHp0q18gL
https://dl.doubtnut.com/l/_BPhM6I2rAbjm
https://dl.doubtnut.com/l/_lFHJMDyCcWNe


A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

D. If both assertion and reason are false statements

Answer:

Watch Video Solution

8. Assertion : The  IP of Be is greater than that of B 


Reason : 2p orbital is lower in energy than 2s

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

1st

https://dl.doubtnut.com/l/_lFHJMDyCcWNe
https://dl.doubtnut.com/l/_ZtsyRiRz7kFu


B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

D. If both assertion and reason are false statements

Answer:

Watch Video Solution

9. Assertion : First ionization energy of nitrogen is lower than oxygen 

Reason : Across the period effective nuclear charge decreases

A. If both Assertion & Reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but the reason is not the

correct explanation of the assertion

C. If assertion is true statement but reason is false

https://dl.doubtnut.com/l/_ZtsyRiRz7kFu
https://dl.doubtnut.com/l/_SpQBEsXAJUbN


Level Ii

D. If both assertion and reason are false statements

Answer:

Watch Video Solution

1. Which of the following is/are wrong w.r.t. atomic volume curve

developed by Lothar Mayer?

A. Alkali metals occupied the crests and transition elements occupied

the troughs.

B. Alkaline earth metals occupied at about the mid-points of the

descending positions of the curve.

C. Boron has the least atomic volume among all elements.

D. Tans uranic elements are placed as a horizontal row below the

curve.

https://dl.doubtnut.com/l/_SpQBEsXAJUbN
https://dl.doubtnut.com/l/_KYw2SPoEJcQ2


Answer:

Watch Video Solution

2.  


On the basis of the given part of the P.T the incorrect statement is

A. A is an alkaline earth metal.

B. The atomic number of B is 72 and belongs to Group 3

C. D on alpha decay gives a noble gas

D. E is a transuranic element with symbol Ku

Answer:

https://dl.doubtnut.com/l/_KYw2SPoEJcQ2
https://dl.doubtnut.com/l/_TyzVBm33CGRT


Watch Video Solution

3. The total number of p-bock elements among the given atomic numbers

50, 80, 42, 64, 86, 32 is

A. 5

B. 3

C. 4

D. 6

Answer:

Watch Video Solution

4. Which of the following pairs of atomic numbers represent elements of

the same group?

A. 26 and 74

https://dl.doubtnut.com/l/_TyzVBm33CGRT
https://dl.doubtnut.com/l/_vAUpMHeO4yFO
https://dl.doubtnut.com/l/_e87KXlpUysm8


B. 28 and 72

C. 24 and 74

D. 44 and 62

Answer:

Watch Video Solution

5. The incorrect relationship is

A. Atomic size 

B. Atomic size  negative charge

C. Atomic size 

D. Atomic size  screening effect

Answer:

Watch Video Solution

αZeff

α

α
1

bond order

α

https://dl.doubtnut.com/l/_e87KXlpUysm8
https://dl.doubtnut.com/l/_kUHhWqqAzm1g
https://dl.doubtnut.com/l/_GYptUVrIepO4


6. The correct order of the size is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Ca2 + > K + > Ar > Cl− > S2 −

S2 − > Cl− > Ar > K + > Ca2 +

K + > Ca2 + > Cl− > Ar > S2 −

S2 − > Ar > Cl− > Ca2 + > K +

7. The ionic conductance of the following cations in a given concentration

are in the order

A. 

B. 

C. 

D. 

Li+ > Na+ > K + > Rb+

Li+ > Na+ > K + > Rb+

Li+ = Na+ > K + < Rb+

Li+ < Na+ < K + < Rb+

https://dl.doubtnut.com/l/_GYptUVrIepO4
https://dl.doubtnut.com/l/_Mlys8s8t3Tca


Answer:

Watch Video Solution

8. One mole of magnesium in the vapour state absorbed 1200 kJ 'm o

l^(-1)' of energy. If the first and second ionization energies of 'Mg' are 750

and '1450 kJ mol^(-1)' respectively, the final composition of the mixture is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

69 % Mg+

69 % Mg2 +

59 % Mg+

59 % Mg2 +

https://dl.doubtnut.com/l/_Mlys8s8t3Tca
https://dl.doubtnut.com/l/_AemqlKTiqlaM


9. Aqueous solutions of two compounds  are

prepared in two different beakers. If the E.N of  = 3.4,  =1.2, O = 3.5

and H = 2.1 then the nature of two solutions will be respectively

A. Acidic, Acidic

B. Basic, Basic

C. Acidic, Basic

D. Basic, Acidic

Answer:

Watch Video Solution

M1 − OH and M2 − OH

M1 M2

10. Five successive ionisation enthalpies of a metal are 577.6, 1816.7,

2744.8, 11578.0 and 14831.0 KJ  respectively. The stable oxidation

state of the metal would be

A. 

mol− 1

+2

https://dl.doubtnut.com/l/_ivp86dxV4Olx
https://dl.doubtnut.com/l/_B92VnRV9v8YR


B. 

C. 

D. 

Answer:

Watch Video Solution

+4

+5

+3

11. X, Y and Z are three elements with  as 


 

Which of the following assumptions about X, Y and Z are true? 

i) X, Y and Z are non metals 

ii) They are hightly electronegative 

iii) Atomic size varies as  


iv) Y may be more reactive than X and Z 

v) X may be more reactive than Y and Z

A. all except (v) are true

B. All except (iii) and (iv) are true

ΔiH1, ΔiH2 and ΔegH1

Z > Y > X

https://dl.doubtnut.com/l/_B92VnRV9v8YR
https://dl.doubtnut.com/l/_vOLkhZEbTuvV


C. All except (i), (iii) and (v) are true

D. All except (iv) are true

Answer:

Watch Video Solution

12. Find the true statement/statements 

a) In a given period  is the lowest for an alkali metal and highest for

noble gas. 

b) Cs has the lowest and He has the highest  among all elements. 


c) Lowest  among the elements of third period is for Mg. 


d) The metal with the highest  is mercury. 


e) Ni (II) compounds are thermodynamically more stable than Pt(II)

compounds while Ni(IV) compound are less stable than Pt(IV) compounds.

A. a, b, c, d

B. a, b, c, e

C. All except e

ΔiH1

ΔiH1

ΔiH2

ΔiH1

https://dl.doubtnut.com/l/_vOLkhZEbTuvV
https://dl.doubtnut.com/l/_hqIkvEkdd1GO


D. All are correct

Answer:

Watch Video Solution

13.  


 


If a, b, c, d are ionisation energies, then which of the following is not

correct

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

K
a

−−→ K + b
−−→ K2 +

Ca
c

−−→ Ca+ d
−−→ Ca2 +

c > a

b < d

b > a

d > c

https://dl.doubtnut.com/l/_hqIkvEkdd1GO
https://dl.doubtnut.com/l/_iO3Jfu9EabLW


14. . Calculate the

amount of energy required to convert 110 mg of X atom in gaseous state

into  ions (At. Wt of X = 7 g/mol)

A. 11.3 kJ

B. 10.1 kJ

C. 14.5 kJ

D. 12.3 kJ

Answer:

Watch Video Solution

X(g) → X + (g) + e−  ΔH = + 720kJmol− 1

X +

15. Consider the following changes 

a)  


b)  


c)  

d)  


M(s) → M(g)

M(s) → M 2 + (g) + 2e−

M(g) → M + (g) + e−

M + (g) → M 2 + (g) + e−

https://dl.doubtnut.com/l/_I7m7F3ZvMx2J
https://dl.doubtnut.com/l/_Q9DcX30mHVr3


e)  

The second 1 E of M could be calculated from the energy values

associated with

A. a + c + d

B. b - (a + c)

C. a + e

D. e - c

Answer:

Watch Video Solution

M(g) → M 2 + (g) + 2e−

16. Which among the following is not correct: The  of Zn, Cd, Hg are

very high,
 , 

,  of Mn is

comparatively low.

A. The  of Zn, Cd, Hg are very high

1E1

1E2  of Cr > Mn and Cu > Zn

1E2  of V < Cr > Mn and Ni < Cu > Zn 1E3

1E1

https://dl.doubtnut.com/l/_Q9DcX30mHVr3
https://dl.doubtnut.com/l/_Ez1jb2Swr0NY


B. 

C. 

D.  of Mn is comparatively low.

Answer:

Watch Video Solution

1E2  of Cr > Mn and Cu > Zn

1E2  of V < Cr > Mn and Ni < Cu > Zn

1E3

17. Find the true statement/statements 

i.  is related to electron affinity (Ae) as per the equation 

 


ii. At absolute zero temperature, EGE and  are the same. 


iii.  of a number of elements is +ve. 


iv.  of Be, Mg, N and noble gases are -ve. 


v. A higher -ve value of  shows a higher electron affinity, but not

always. 

vi.  is of N, O, F and Ne have a relatively lower -ve values as

compound with the next group member. 

ΔegH

ΔegH = − [Ae + RT]
5

2

Ae

ΔegH2

ΔegH1

ΔegH1

ΔegH1

https://dl.doubtnut.com/l/_Ez1jb2Swr0NY
https://dl.doubtnut.com/l/_uNKlHjqZLVJm


vii. Group 14 elements (except lead) have a higher -ve value of 

compound with group 15 elements.

A. i,ii,iii,vi

B. iii,iv,v and vi

C. All except iii and iv

D. v, vi and vii

Answer:

Watch Video Solution

ΔegH1

18. Consider the following conversions 

i.  


ii.  


iii.  


iv.  


The incorrect statement is

O ( g ) + e− → O−
g    ΔH1

F ( g ) + e− → F −
( g )    ΔH2

Cl ( g ) + e− → Cl−
( g )    ΔH3

Na ( g ) → Na+
( g ) + e−    ΔH3

https://dl.doubtnut.com/l/_uNKlHjqZLVJm
https://dl.doubtnut.com/l/_bnLHLDHpmI9e


A.  is less -ve than 

B.  are -ve while  is +ve

C.  is more -ve than 

D.  are -ve while  is +ve

Answer:

Watch Video Solution

ΔH1 and ΔH2 ΔH3

ΔH2 and ΔH3 ΔH1

ΔH2 ΔH1

ΔH1, ΔH2 and ΔH3 ΔH4

19.  atoms of  are converted into  by energy 

atoms of  are converted into  by energy . Hence ionisation

energy and electron gain enthalpy of  are (  = Avogadro Number)

A. 

B. 

C. 

D. 

3N0

2
X ( g ) X +

( g )
E1,

2N0

3

X ( g ) X −
( g )

E2

X ( g ) N0

,
2E1

3N0

2E2

3N0

,
2E1

3N0

3E2

2N0

,
3E1

2N0

3E2

2N0

,
3E1

2N0

2E2

3N0

https://dl.doubtnut.com/l/_bnLHLDHpmI9e
https://dl.doubtnut.com/l/_AdeZywX2eh2i


Answer:

Watch Video Solution

20. Which will have the maximum value of electron affinity 

(X, Y, Z respectively are 0, -1 and -2)

A. 

B. 

C. 

D. All have equal

Answer:

Watch Video Solution

OX, OY , OZ

OX

OY

OZ

21. In which of the following options, the order of arrangement does not

agree with the variation of property indicated against it?

https://dl.doubtnut.com/l/_AdeZywX2eh2i
https://dl.doubtnut.com/l/_QD9fqWGNncPA
https://dl.doubtnut.com/l/_bo5G6G4d3pae


A.  (Increasing metallic character)

B.  (Increasing ionic size)

C.  (Increasing first 1E)

D.  (Increasing EGE)

Answer:

Watch Video Solution

Li < Na < K < Rb

Al3 + < Mg2 + < Na+ < F −

B < C < N < O

I < Br < F < Cl

22. Select the group where E.N increase down the group?

A. Ca, Sr, Ba

B. Zn, Cd, Hg

C. F, Cl, Br

D. Li, Na, K

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bo5G6G4d3pae
https://dl.doubtnut.com/l/_0mg5tInJdRCp


23. If electronegativity of A 2.0 and that of B is 3.0. What is the covalent %

of the bond

A. 

B. 

C. 0.46

D. 0.54

Answer:

Watch Video Solution

19.5 %

80.5 %

24. A compound contains three elements A, B and C. If the oxidation

number of A = , B =  and C = , then the possible formula of the

compound is

A. 

+2 +5 −2

A3(BC4)2

https://dl.doubtnut.com/l/_0mg5tInJdRCp
https://dl.doubtnut.com/l/_cAFxzEpS7b6r
https://dl.doubtnut.com/l/_Z0t7YFTr6Fqj


B. 

C. 

D. 

Answer:

Watch Video Solution

A3(B4C)2

A2(BC3)2

ABC2

25. There are three elements A, B, C. Their atomic number are

 respectively. If  and

the electronic configuration of element A is  then the correct

order of magnetic moment of

A. 

B. 

C. 

D. 

Z1, Z2 and Z3 Z1 − Z2 = 2 and = Z3 − 2
Z1 + Z2

2

[Ar]3d64s2

B2 + > A2 + > C 2 +

A3 + > B3 + > C

B > A > C 2 +

B = A3 + > C 3 +

https://dl.doubtnut.com/l/_Z0t7YFTr6Fqj
https://dl.doubtnut.com/l/_TU8bZHNKnRWE


Answer:

Watch Video Solution

26. The bond length of  molecule is  bond length = 

 the difference of E.N of A-Cl is 1.0, then the bond length of A-Cl is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A2 0.8A ∘ and Cl2

1.98A ∘

1.30A ∘

1.39A ∘

2.60A ∘

2.78A ∘

27. In which of the following properties did Be shows similarities with Al? 

a) Both are comparatively stable in air. 

https://dl.doubtnut.com/l/_TU8bZHNKnRWE
https://dl.doubtnut.com/l/_tN58D60M6vQe
https://dl.doubtnut.com/l/_Id1K0e187xcw


b) They have no tendency to form peroxide and superoxides. 

c) Both provide colour to Bunsen flame. 

d) Both form coloured solution in  


e) The oxides and hydroxides of both elements are amphoteric.

A. a, b, c, d

B. a, b, c

C. a, b, e

D. a, b, d, e

Answer:

Watch Video Solution

NH3

28. Which among the following order is correct? 

a)  - density 


b)  - 1E 


c)  Negative value of EGE 


Ca < Mg < Be < Sr < Ba

Te2 − < I − < Cs+ < Ba2 +

O > S > Se > Te > Po

https://dl.doubtnut.com/l/_Id1K0e187xcw
https://dl.doubtnut.com/l/_d73HS0IWuNd9


d)  - E.N 


e)  - Bond angle

A. a, b, c

B. a, b, c, d

C. a, b, c, e

D. a, b, d, e

Answer:

Watch Video Solution

N > C > P > Si

NH3 > PH3 > AsH3 > SbH3

29. Sum of  of X, Y and Z are respectively 

. If they have  of 

 and if X, Y and Z may be a collection

of N, O and S, identify than correctly:

A. X = O, Y = N, Z = S

B. X = N, Y = O, Z = S

ΔegH1 and ΔegH2

+703, + 256 and + 659KJmol − 1 ΔegH2

+844, + 456 and + 690KJmol− 1

https://dl.doubtnut.com/l/_d73HS0IWuNd9
https://dl.doubtnut.com/l/_rYgRmYFbqH6o


Level Ii Assertion Reason

C. X = O, Y = S, Z = N

D. X = S, Y = O, Z = N

Answer:

Watch Video Solution

1. Assertion : Size of an anion is larger than their parent atom. 

Reason :  of anion is greater than that of their parent atom.

A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Zeff

https://dl.doubtnut.com/l/_rYgRmYFbqH6o
https://dl.doubtnut.com/l/_AM01zfgcL5ls


Answer:

Watch Video Solution

2. Assertion : Hydrogen is called a rogue element. 

Reason: Hydrogen contains one electron in its valence shell.

A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AM01zfgcL5ls
https://dl.doubtnut.com/l/_uO9rUbXbSZFb
https://dl.doubtnut.com/l/_lKDCVmquQt2p


3. Assertion : Transition elements shows horizontal similarities in addition

to the main group elements. 

Reason : Their addition electron in a series enters into (n-1) d subshell.

A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

4. Assertion : The ionic radius follows the order . 


Reason : Smaller the value of Z/e, the larger the size of the species.

I − < I < I +

https://dl.doubtnut.com/l/_lKDCVmquQt2p
https://dl.doubtnut.com/l/_ZeHSd5dUZnXY


A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If Assertion is false statement but Reason is true

Answer:

Watch Video Solution

5. Assertion : EGE value of Al is less -ve than that of Na. 

Reason : Al atom is smaller than Na atom. : If both Assertion & Reason are

true and the Reason is the correct explanation of the Assertion, If both

Assertion and reason are true but the Reason is not the correct

explanation of the Assertion, If Reason is true statement but Assertion is

false, If both Assertion and Reason are false statements

https://dl.doubtnut.com/l/_ZeHSd5dUZnXY
https://dl.doubtnut.com/l/_dGVNey78R2oJ


A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

6. Assertion : Carbon in  is more E.N than in . 


Reason : Carbon in  acquires greater +ve charge.

A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

CF3I CH3I

CF3I

https://dl.doubtnut.com/l/_dGVNey78R2oJ
https://dl.doubtnut.com/l/_52mwYHS6IIjh


B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

7. Assertion : Nitric oxide is an acidic oxide while  is a basic oxide. 


Reason : Oxides of metals are generally acidic while oxides of non-metals

are generally basic.

A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

CrO3

https://dl.doubtnut.com/l/_52mwYHS6IIjh
https://dl.doubtnut.com/l/_IyDN97mV0Ptj


D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

8. Assertion : Electronegativity of inert gas element is 'zero' 

Reason : Inert gas elements have stable electronic configuration

A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_IyDN97mV0Ptj
https://dl.doubtnut.com/l/_MPC1AxY7CnxA


9. Assertion : Properties of Beryllium is similar to that of aluminium 

Reason: Both the elements belongs to same group

A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

10. Assertion : Atomic radius of inert gases is largest in the period 

Reason : Effective nuclear charge of inert gases, is minimum

https://dl.doubtnut.com/l/_MPC1AxY7CnxA
https://dl.doubtnut.com/l/_L3k6I5LgLEcd
https://dl.doubtnut.com/l/_F3XtswwREbtE


A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If both Assertion and Reason are false statements

Answer:

Watch Video Solution

11. Assertion : Atomic size of Boron is larger than Beryllium 

Reason : Alkali metals have only one electron in the valence shell

A. If both Assertion & Reason are true and the Reason is the correct

explanation of the Assertion

https://dl.doubtnut.com/l/_F3XtswwREbtE
https://dl.doubtnut.com/l/_zxeXR0OcObjB


Question

B. If both Assertion and reason are true but the Reason is not the

correct explanation of the Assertion

C. If Assertion is true statement but Reason is false

D. If Assertion is false statement but Reason is true

Answer:

Watch Video Solution

1. Find the blocks to which elements having atomic numbers 34, 37, 42 , 63

belong.

Watch Video Solution

2. Predict the period, group and block to which elements with atomic

numbers 9, 22, 35, 47 belong.

https://dl.doubtnut.com/l/_zxeXR0OcObjB
https://dl.doubtnut.com/l/_BgA2xi8nx5nl
https://dl.doubtnut.com/l/_drMJhzB8mDjd


Watch Video Solution

3. Name the element with atomic number 119.

Watch Video Solution

4. The electronegativities of carbon and chlorine are 2.5 and 3.00

respectively. Calculate the C-Cl bond length if C-C and Cl-Cl bond distances

are 1.54  and 1.0

Watch Video Solution

A ∘ A ∘

5. The electron gain ethalpy of chlorine is -  . Calculate the

energy released when 5.5g of chlorine is converted into  ions in the

gaseous state.

Watch Video Solution

349kJmol− 1

Cl−

https://dl.doubtnut.com/l/_drMJhzB8mDjd
https://dl.doubtnut.com/l/_n6StthjVPVAJ
https://dl.doubtnut.com/l/_WKduFtLVLjkw
https://dl.doubtnut.com/l/_QdO7e5vy2bD7
https://dl.doubtnut.com/l/_rxiePMFFubZy


6. Calculate the N-O bond distance if covalent radii of nitrogen and

oxygen atoms are respectively, 0.75  and 0.74  and the

electronegativities are 3.0 and 3.5.

Watch Video Solution

A ∘ A ∘

7. What is the effective nuclear charge, felt by a 1s electron of the helium

atom ?

Watch Video Solution

8. Calculate the  felt by a 2p electron of the nitrogen atom.

Watch Video Solution

Zeff

9. Calculate the  at the periphery of the chromium atom.

Watch Video Solution

Zeff

https://dl.doubtnut.com/l/_rxiePMFFubZy
https://dl.doubtnut.com/l/_LSE2olSIKhCj
https://dl.doubtnut.com/l/_jH2g7rcs3iln
https://dl.doubtnut.com/l/_WDHzRnKu9VTs


Level I

10. Calculate the electronegativity of carbon from the following data:

Watch Video Solution

EH −H = 104.2kcalmol− 1, EC−C = 83.1kcalmol− 1, EC−H = 98.8kcalmol

XH = 2.1

11. Calculate the electronegativity of silicon ( covalent radius= 1.175 Å)

Watch Video Solution

1. Which pair of atomic numbers represents s-block elements?

A. 7,15

B. 6,12

C. 9,17

https://dl.doubtnut.com/l/_Emw0UXHji29s
https://dl.doubtnut.com/l/_iTgVJPHowqsB
https://dl.doubtnut.com/l/_EwBqD9O4KGIx


D. 3,12

Answer: D

Watch Video Solution

2. The atomic radius increases as we move down a group because

A. effective nuclear charge increases

B. atomic mass increases

C. added electrons are accommodated in new electron level

D. atomic number increases

Answer: C

Watch Video Solution

3. Which one of the following ions has the smallest radius?

https://dl.doubtnut.com/l/_EwBqD9O4KGIx
https://dl.doubtnut.com/l/_5d4DGzUuYEMm
https://dl.doubtnut.com/l/_T6HOXUNzfobW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl−

S2 −

K +

Ca2 +

4. Consider the ions: 'K^+, S^(2-), Cl^-' and 'Ca^(2+) .' The radii of these

ionic species follow the order:

A. 

B. 

C. 

D. 

Answer: C

Ca2 + > K + > Cl− > S2 −

Cl− > S2 − > K + > Ca2 +

S2 − > Cl− > K + > Ca2 +

K + > Ca2 + > S2 − > Cl−

https://dl.doubtnut.com/l/_T6HOXUNzfobW
https://dl.doubtnut.com/l/_GgNXjV0cncxO


Watch Video Solution

5. The radius of  is minimum in which of the following compounds?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cr

K2CrO4

CrF3

CrO2

CrCl3

6. The set representing the correct order of first ionization potential is

A. 

B. 

C. 

K > Na > Li

Be > Mg > Ca

B > C > N

https://dl.doubtnut.com/l/_GgNXjV0cncxO
https://dl.doubtnut.com/l/_vBxK0tZJ5QtM
https://dl.doubtnut.com/l/_srzx5lH9SaTJ


D. 

Answer: B

Watch Video Solution

Ge > Si > C

7. Which of the following has least electron affinity?

A. Oxygen

B. Argon

C. Nitrogen

D. Boron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_srzx5lH9SaTJ
https://dl.doubtnut.com/l/_Ps3kSrpW89a2


8. Which of the following statements is correct with respect to the

property of elements with an increase in atomic number in the carbon

family (group 14)?

A. Atomic size decreases

B. Ionization energy increases

C. Metallic character decreases

D. Stability of +2 oxidation state increases

Answer: D

Watch Video Solution

9. The element with the electronic configurations as 

represents

A. Metal

B. Non-metal

(Ar)3d104s24p3

https://dl.doubtnut.com/l/_GDeyDo32bGHg
https://dl.doubtnut.com/l/_YFgUUauR7GwH


C. Metalloid

D. Transition metal

Answer: C

Watch Video Solution

10. The law of triads is not applicable with

A. Cl, Br, I

B. Na, K, Rb

C. S, Se, Te

D. Ca, Sr, Ba

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YFgUUauR7GwH
https://dl.doubtnut.com/l/_YOzmaxakr66z


11. If Aufbau rule is not followed, K-19 will be placed in........... block.

A. s

B. p

C. d

D. f

Answer: C

Watch Video Solution

12. Following triads have approximately equal size

A.  (iso-electronic)

B.  (iso-electronic)

C. Fe, Co, Ni

D.  (iso-electronic)

Na+ , Mg2 + , Al3 +

F − , Ne, O2 −

Mn+ , Fe2 + , Cr

https://dl.doubtnut.com/l/_EavaCNsdVPvq
https://dl.doubtnut.com/l/_KLNQNNWTuoqA


Answer: C

Watch Video Solution

13. Which pair is different from the others?

A. Li-Mg

B. Na - K

C. Ca - Mg

D. B-Al

Answer: A

Watch Video Solution

14. Which is/are amphoteric oxides?

A. BeO

https://dl.doubtnut.com/l/_KLNQNNWTuoqA
https://dl.doubtnut.com/l/_92E7o4An8jH2
https://dl.doubtnut.com/l/_k6VxPK7dnPbW


B. SnO

C. ZnO

D. All of these

Answer: D

Watch Video Solution

15. Second electron affinity of an element

A. is always negative

B. is always positive

C. can be positive or negative

D. is always zero

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_k6VxPK7dnPbW
https://dl.doubtnut.com/l/_LfnJbMVYQQjW
https://dl.doubtnut.com/l/_qo4b9KepFFN0


16. Ionisation energy of  is  . The electron gain enthalpy

of fluorine would be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F Ɵ 320kJmol− 1

−320kJmol− 1

−160kJmol− 1

+320kJmol− 1

+160kJmol− 1

17. Which of the following element has the highest EN?

A. As

B. Sb

C. P

D. S

https://dl.doubtnut.com/l/_qo4b9KepFFN0
https://dl.doubtnut.com/l/_j9dCEdluGkWP


Answer: D

Watch Video Solution

18. Which of the following oxides is most basic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2O

MgO

Al2O3

CuO

19. The IUPAC name for the element with atomic number, Z=119 is.

A. Unp

https://dl.doubtnut.com/l/_j9dCEdluGkWP
https://dl.doubtnut.com/l/_7k73WiFFFtBZ
https://dl.doubtnut.com/l/_rNJxPpeQM2QL


B. Uns

C. Uno

D. Uue

Answer: D

Watch Video Solution

20. An element which lies in the same group of the periodic table as

mercury is

A. Gold

B. Tin

C. Thalium

D. Cadmium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rNJxPpeQM2QL
https://dl.doubtnut.com/l/_U8gY6N632c1A


21. Eka-aluminium and Eka-silicon are

A. Gallium and germanium

B. Aluminium and silicon

C. Iron and sulphur

D. Carbon and silicon

Answer: A

Watch Video Solution

22. Considering the elements from left to right in the third period of the

periodic table, the atomic volume of the elements:

A. first decreases then increases

B. decreases

C. increases at constant rate

https://dl.doubtnut.com/l/_U8gY6N632c1A
https://dl.doubtnut.com/l/_3JdFBfoQiVMs
https://dl.doubtnut.com/l/_KsougBftPBUr


D. remains unchanged

Answer: A

Watch Video Solution

23. Which of the following ions has the largest heat of hydration?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na+

Al3 +

F −

Sr2 +

24. According to Moseley, a straight line graph is obtained on plotting.

https://dl.doubtnut.com/l/_KsougBftPBUr
https://dl.doubtnut.com/l/_MgBSPy6KIUXF
https://dl.doubtnut.com/l/_KM9rEfhIljge


A. v vs. Z

B.  vs. Z

C.  vs. Z

D.  vs. Z

Answer: C

Watch Video Solution

v2

√v

1

v

25. An element having electronic configuration 

forms:

A. Acidic oxide

B. Basic oxide

C. Amphoteric oxide

D. Neutral oxide

Answer: B

1s22s22p63s23p64s1

https://dl.doubtnut.com/l/_KM9rEfhIljge
https://dl.doubtnut.com/l/_bRpDlhrsvSBk


Watch Video Solution

26. The first ionisation potential of Na, Mg, Al and Si are in the order

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na < Mg > Al < Si

Na > Mg > Al > Si

Na < Mg < Al > Si

Na > Mg > Al < Si

27. The pair of elements violating the law of octaves among the following

are

A. Li & Na

B. Mg & Ca

https://dl.doubtnut.com/l/_bRpDlhrsvSBk
https://dl.doubtnut.com/l/_bqoxlkYAehF3
https://dl.doubtnut.com/l/_Szw5dXlcHZ4N


C. P& As

D. F & Cl

Answer: C

Watch Video Solution

28. Diagonal relationship is due to

A. Identical valency.

B. Identical oxidation state

C. Identical maximum covalency

D. Compensation of change in electronegativity across a period by

that in a group.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Szw5dXlcHZ4N
https://dl.doubtnut.com/l/_j6DKLUVxURD7
https://dl.doubtnut.com/l/_UB8XTROAgHKP


29. The atom having the valence shell electronic configuration 

would be in:

A. Group 2 and period 3

B. Group 2 and period 4

C. Group 14 and period 4

D. Group 14 and period 3

Answer: C

Watch Video Solution

4s24p2

30. The general electronic configuration of transition elements is:

A. 

B. 

C. 

D. 

(n − 1)d1 − 10ns1 − 2

ns2(n − 1)d10

(n − 1)d10ns2

ns2np5

https://dl.doubtnut.com/l/_UB8XTROAgHKP
https://dl.doubtnut.com/l/_zCBzJBCcirtr


Answer: A

Watch Video Solution

31. The ionic radii of isoelectronic species 'N^(3-), O^(2-)' and 'F^-' in 'Â 0'

are in the order

A. 1.36, 1.40, 1.71

B. 1.36, 1.71, 1.40

C. 1.71, 1.40, 1.36

D. 1.71, 1.36, 1.40

Answer: C

Watch Video Solution

32. Which of the following is not isoelectronic series:

https://dl.doubtnut.com/l/_zCBzJBCcirtr
https://dl.doubtnut.com/l/_vwrd1ugp6qK4
https://dl.doubtnut.com/l/_FpXR1xgrmObq


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl− , P 3 − , Ar

N 3 − , Ne, Mg+ 2

B+ 3, He, Li+

N 3 − , S2 − , Cl

33. The radius of isoelectronic series

A. Decreases with decreasing nuclear charge

B. Decreases with increasing effective nuclear charge

C. Same for all

D. First increases then decreases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FpXR1xgrmObq
https://dl.doubtnut.com/l/_4y8YcivADSp7


34. In a period, the elements having least melting point are:

A. Noble gas

B. Alkali metals

C. Chalcogens

D. Pnicogens

Answer: A

Watch Video Solution

35. Which of the following represents a correct sequence of

electronegativity values?

A. 

B. 

C. 

F > N > O > C

F > N < O > C

F > N > C > O

https://dl.doubtnut.com/l/_4y8YcivADSp7
https://dl.doubtnut.com/l/_UECTMNWRl206
https://dl.doubtnut.com/l/_fmnR1OBvcfJf


D. 

Answer: B

Watch Video Solution

F < N < O < C

36. Which of the following order of atomic/ionic radius is not correct

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I − > I > I +

Mg2 + > Na+ > F −

Cr3 + < Cr2 +

Li > Be > B

https://dl.doubtnut.com/l/_fmnR1OBvcfJf
https://dl.doubtnut.com/l/_zCTha0DtPUto


37. The best reason to account for the general tendency of atomic

diameters to decrease as the atomic number increase within a period of

the periodic table is the fact that

A. Outer electrons repel inner electrons

B. Closer packing among the nuclear particles is achieve

C. The number of neutrons increases

D. The increasing nuclear charge exerts a greater attractive force on

the electrons

Answer: D

Watch Video Solution

38. In which of the following pairs, the ionisation energy of the first

species is less than that of the second

A. O− , O2 −

https://dl.doubtnut.com/l/_OuocNCWHJTWQ
https://dl.doubtnut.com/l/_407ybZkDNbo3


B. 

C. 

D. 

Answer: B

Watch Video Solution

S, P

N, P

Be+ , Be

39. The correct order of stability of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al+ , Al+ 2, Al+ 3

Al+ 3 > Al+ 2 > Al+

Al+ 2 > Al+ 3 > Al+

Al+ 2 < Al+ > Al+ 3

Al+ 3 > Al+ > Al+ 2

https://dl.doubtnut.com/l/_407ybZkDNbo3
https://dl.doubtnut.com/l/_pGvQg7dizoao
https://dl.doubtnut.com/l/_aDnAnbIBVvrE


40. Which of the following transitions involves maximum amount of

energy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M −
( g ) → M ( g )

M ( g ) → M +
( g )

M +
( g ) → M 2 +

( g )

M 2 +
( g ) → M 3 +

( g )

41. Which order is wrong:

A. Electronegativity -

B. ionisation potential -

C. Basic property - 

D. Reactivity-

P < N < O < F

B < Be < O < N

MgO > CaO > FeO > Fe2O3

Be < Li < K < Cs

https://dl.doubtnut.com/l/_aDnAnbIBVvrE
https://dl.doubtnut.com/l/_Z8p9NPZmghrN


Answer: C

Watch Video Solution

42. Decreasing order of size of ions is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Br− > S − 2 > Cl− > N − 3

N 3 − > S − 2 > Cl− > Br−

Br− > Cl− > S − 2 > N − 3

N − 3 > Cl− > S − 2 > Br−

43. Zinc does not show the variable valency as elements of d-block,

because:

https://dl.doubtnut.com/l/_Z8p9NPZmghrN
https://dl.doubtnut.com/l/_5gpL1sVUIR3r
https://dl.doubtnut.com/l/_jI1qtd6mP2N5


A. This is soft metal

B. completely filled 3d-level

C. Its melting point is low

D. Volatile Metal

Answer: B

Watch Video Solution

44. The correct order of ionization energies of ,  and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F − , Cl− F Cl

Cl < F < Cl− < F −

Cl− < F − < Cl < F

F − < Cl− < Cl < F

Cl− < Cl < F − < F

https://dl.doubtnut.com/l/_jI1qtd6mP2N5
https://dl.doubtnut.com/l/_Zzop93ZMl6Y0


45. Lanthanoid contraction is caused due to:

A. the same effective nuclear charge from Ce to Lu

B. the imperfect shielding on outer electrons by 4f electrons from the

nuclear charge

C. the appreciable shielding on outer electrons by 4f electrons from

the nuclear charge

D. the appreciable shielding on outer electrons by 5d electrons from

the nuclear charge

Answer: B

Watch Video Solution

46. Which of the following statements is correct with respect to the

property of elements with an increase in atomic number in the carbon

https://dl.doubtnut.com/l/_Zzop93ZMl6Y0
https://dl.doubtnut.com/l/_3xrswfVuCHAF
https://dl.doubtnut.com/l/_QjkM2l2XVmu0


family (group 14)?

A. Atomic size decrease

B. Ionisation energy increase

C. Metallic character decrease

D. Stability of +2 oxidation state increase

Answer: D

Watch Video Solution

47. The elements which occupy the peaks of ionization energy curve, are

A. Na, K, Rb, Cs

B. Na, Mg, CI, I

C. Cl, Br, I, F

D. He, Ne, Ar, Kr

Answer: D

https://dl.doubtnut.com/l/_QjkM2l2XVmu0
https://dl.doubtnut.com/l/_UIe0WzybLUad


Watch Video Solution

48. Ionic radii of

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ti4 + < Mn7 +

35Cl− > 37Cl−

K + > Cl−

P 3 + > P 5 +

49. In which block, 106th element belongs

A. s-block

B. p-block

C. d-block

https://dl.doubtnut.com/l/_UIe0WzybLUad
https://dl.doubtnut.com/l/_5U6j8yT4xpYE
https://dl.doubtnut.com/l/_0dfPMWvX6Jb0


Level Ii

D. f-block

Answer: C

Watch Video Solution

50. Similarity in chemical properties of the atoms of elements in a group

of the periodic table is most closely related to

A. atomic numbers

B. atomic masses

C. number of principal energy levels

D. number of valence electrons

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0dfPMWvX6Jb0
https://dl.doubtnut.com/l/_qd3Dph6GWY4A


1. The statement that is not correct for the periodic classification of

elements is

A. The properties of elements are a periodic function of their atomic

numbers

B. Non-metallic elements are less in number than metallic elements

C. The first ionization energies of elements along a period do not vary

in a regular manner with increase in atomic number

D. For transition elements, the d-subshells are filled with electrons

monotonically with increase in atomic number

Answer: D

Watch Video Solution

2. Amongst the following elements (where electronic configurations are

given below), the one having the highest ionisation enthaipy is 'therefore'

https://dl.doubtnut.com/l/_rDHdGyYp49Q8
https://dl.doubtnut.com/l/_Yjcl6PkHJhcb


[Ne] , [Ne] , [Ne] , [Ne] 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3s23p1 3s23p3 3s23p2 3d104s24p2

[Ne]3s23p1

[Ne]3s23p3

[Ne]3s23p2

[Ne]3d104s24p2

3. The electron affinities of halogens are: F=332, CI =439, Br=324, I=295 kJ

. The higher value for Cl as compared to that of F is due to

A. Higher atomic radius of F

B. Smaller electronegativity of F

C. Weaker electron-electron repulsion in Cl

D. More vacant p-subshell in Cl

mol− 1

https://dl.doubtnut.com/l/_Yjcl6PkHJhcb
https://dl.doubtnut.com/l/_hLBrYMNnLrrU


Answer: C

Watch Video Solution

4. The , and , of an element are 7.1, 14.3, 34.5, 46.8,

162.2eV respectively. The element is likely to be

A. Na

B. Si

C. F

D. Ca

Answer: B

Watch Video Solution

IP1, IP2, IP3, IP4 IP5

5. Calculate the energy needed to convert three moles of sodium atoms

in the gaseous state to sodium ions, The ionization energy of sodium is

https://dl.doubtnut.com/l/_hLBrYMNnLrrU
https://dl.doubtnut.com/l/_5w5qXY1WXUfc
https://dl.doubtnut.com/l/_w7DHj1Vkpwgc


A. 1485 kJ

B. 495 kJ

C. 148.5 kJ

D. None

Answer: A

Watch Video Solution

495kJmol− 1

6. Which is correct in the following?

A. Radius of Cl atom is 0.99 Å, while that of  ion is 1.54 Å

B. Radius of Cl atom is 0.99 Å,, while that of Na atom is 1.86 Å,

C. Radius of Cl atom is 0.95 Å while that of  ion is 0.81Å

D. Radius of Na atom is 0.95Å, while that of  ion is 1.86Å

Answer: B

Cl+

Cl−

Na+

https://dl.doubtnut.com/l/_w7DHj1Vkpwgc
https://dl.doubtnut.com/l/_rPQiixAE3EwM


Watch Video Solution

7. The formation of the oxide ion  (g) requires first an exothermic and

then an endothermic step as shown below, 

 


 

This is because : oxygen is more electronegative, oxygen has high

electron affinity,  ion will tend to resist the addition of another

electron ,  ion has comparatively larger size than oxygen atom

A. oxygen is more electronegative

B. oxygen has high electron affinity

C.  ion will tend to resist the addition of another electron

D.  ion has comparatively larger size than oxygen atom

Answer: C

Watch Video Solution

O2 −

O(g) + e− = O− (g), ΔH ∘ = − 142kJmol− 1

O− (g) + e− = O2 − (g), ΔH ∘ = 844kJmol− 1

O−

O−

O−

O−

https://dl.doubtnut.com/l/_rPQiixAE3EwM
https://dl.doubtnut.com/l/_vWzbnsKEu283
https://dl.doubtnut.com/l/_wXkRXrX2BN4A


8. The correct order of increasing ionic character is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BeCl2 < MgCl2 < CaCl2 < BaCl2

BeCl2 < CaCl2 < MgCl2 < BaCl2

BaCl2 < CaCl2 < MgCl2 < BeCl2

MgCl2 < CaCl2 < BeCl2 < BaCl2

9. Ionisation potential and electron affinity of fluorine are 17.42 and 3.45

eV respectively. Calculate the electronegativity of fluorine.

A. 3.726

B. 2.726

C. 1.726

D. 5.726

https://dl.doubtnut.com/l/_wXkRXrX2BN4A
https://dl.doubtnut.com/l/_5AiE6103RQ6l


Answer: A

Watch Video Solution

10. The graph of  or  versus atomic number (Z) is given below: 


 

Which of the following statement is correct?

A. Alkali metals are at the maxima and noble gases at the minima.

B. Noble gases are at the maxima and alkali metals at the minima.

C. Transition elements are the maxima

D. Minima and maxima do not show any regular behaviour.

IE1 ΔH1Ɵ

https://dl.doubtnut.com/l/_5AiE6103RQ6l
https://dl.doubtnut.com/l/_hcLIzcPIPj1T


Answer: B

Watch Video Solution

11. Elements a, b, c, d and e have the following electronic configuration 

(a)  (b)  (c)  (d) 

 (e)  


Which among these will belong to the same group in the periodic table ?

a & d,
b&c,
a & b,
a & e

A. a & d

B. b&c

C. a & b

D. a & e

Answer: C

Watch Video Solution

1s22s22p1 1s22s22p63s23p1 1s22s22p63s23p3

1s22s22p63s23p5 1s22s22p63s23p64s2

https://dl.doubtnut.com/l/_hcLIzcPIPj1T
https://dl.doubtnut.com/l/_viIp54QYCiEm
https://dl.doubtnut.com/l/_0uWal5rlTGyI


12. Which of the following order is wrong?

A.  -Acidic character

B.  -Ionic radius in gaseous state

C. 

D. -Increasing metallic radius

Answer: C

Watch Video Solution

NH3 < PH3 < AsH3

Li+ < Na+ < K + < Cs+

Li < Be < B < C − IE,

Li < Na < K < Rb

13. General electronic configuration of outermost and penultimate shell

of an atom is  If n= 4 and x=5, then

number of protons in the nucleus will be:

A. 26

B. 24

C. 25

[Ne](n − 1)s2(n − 1)p6(n − 1)dxns2

https://dl.doubtnut.com/l/_0uWal5rlTGyI
https://dl.doubtnut.com/l/_3VvBbguBcQPR


D. 30

Answer: C

Watch Video Solution

14. An element X belongs to fourth period and fifteenth group of the

periodic table. Which one of the following is true regarding the outer

electronic configuration of X? It has:

A. partially filled d-orbitals and completely filled s-orbital

B. completely filled s-orbital and completely filled p-orbitals

C. completely filled s-orbital and half-filled p-orbitals

D. half-filled d-orbitals and completely filled s-orbital

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3VvBbguBcQPR
https://dl.doubtnut.com/l/_bFLPN5YLs4bB
https://dl.doubtnut.com/l/_IPYRBoESpa46


15. The correct order of decreasing first ionization energy is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Si > Al > Mg > Na

Si > Mg > Al > Na

Al > Si > Mg > Na

Mg > Li > Al > Si

16. Similarity in chemical properties of the atoms of elements in a group

of the periodic table is most closely related to

A. atomic numbers

B. atomic masses

C. number of principal energy levels

D. number of valence electrons

https://dl.doubtnut.com/l/_IPYRBoESpa46
https://dl.doubtnut.com/l/_5xi1QdjFGFxz


Answer: D

Watch Video Solution

17. In the long form of the periodic table, the valence shell electronic

configuration of  corresponds to the element present in:

A. Group 16 and period 6

B. Group 17 and period 5

C. Group 16 and period 5

D. Group 17 and period 6

Answer: C

Watch Video Solution

5s25p4

18. In which of the following sets of atomic numbers, all the elements do

not belong to the same group?

https://dl.doubtnut.com/l/_5xi1QdjFGFxz
https://dl.doubtnut.com/l/_0fGvA8aLwY7o
https://dl.doubtnut.com/l/_CvgYlIDSoVLq


A. 3, 11,37

B. 12, 38, 56

C. 10, 16, 24

D. 10, 18, 54

Answer: C

Watch Video Solution

19. Which of the following element is just below in the E.C. of

A. As

B. Ge

C. Sb

D. Sn

Answer: C

[Ne]3s23p64s23d104p3

https://dl.doubtnut.com/l/_CvgYlIDSoVLq
https://dl.doubtnut.com/l/_iB45uqSkrhDU


Watch Video Solution

20. Chloride of an element A gives neutral solution in water. In the

periodic table, the element A belongs to

A. first group

B. third group

C. fifth group

D. first transition series

Answer: A

Watch Video Solution

21. Write the period number, group number and block of the element

having atomic number 42

A. 5, 5, d

https://dl.doubtnut.com/l/_iB45uqSkrhDU
https://dl.doubtnut.com/l/_62PDJo7mlwJt
https://dl.doubtnut.com/l/_08OD70N1cVPW


B. 5, 6, d

C. 5, 2, d

D. 5, 15, p

Answer: B

Watch Video Solution

22. Among the elements with the following atomic numbers, which are d-

block elements? 

I) 29 II) 81 III) 46 IV) 58

A. I,IV

B. IV, II

C. I, III

D. II, III

Answer: C

https://dl.doubtnut.com/l/_08OD70N1cVPW
https://dl.doubtnut.com/l/_D8QNcqlOEBBV


Watch Video Solution

23. If the atomic number of an inert gas element is Z, then an element

with which of the following electronic configurations will have the

highest electronegativity (according to Pauling scale)?

A. Z-1

B. Z-2

C. Z+1

D. Z+2

Answer: A

Watch Video Solution

24. The process requiring absorption of energy is

A. F → F −

https://dl.doubtnut.com/l/_D8QNcqlOEBBV
https://dl.doubtnut.com/l/_t6uhDRIcRChs
https://dl.doubtnut.com/l/_LoT1y0QeRMas


B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl → Cl−

O− → O− 2

H → H −

25. Which of the following is correct regarding the variation of properties

in a group of the periodic table?

A.  : ionization enthalpy increases.

B.  Electron gain enthalpy with negative sign increases.

C.  Atomic radii increases.

D. : Noble character increases.

Answer: C

Watch Video Solution

3Li → 19K

9F → 35Br

6C → 32Ge

18Ar → 54Xe

https://dl.doubtnut.com/l/_LoT1y0QeRMas
https://dl.doubtnut.com/l/_IjeYKDmuxLPb


26. The electronegativity of H, O and X are 2.1, 3.5 and 0.7 respectively. The

correct nature of compound X-O-H is

A. acidic

B. basic

C. amphoteric

D. cannot be predicated

Answer: B

Watch Video Solution

27.  (n-outermost orbit) represents the valence electrons. The

corresponding group elements would be

A. F, Cl, Br

B. N, P, As

ns2np4

https://dl.doubtnut.com/l/_IjeYKDmuxLPb
https://dl.doubtnut.com/l/_qOaDvKrH6VoE
https://dl.doubtnut.com/l/_kvZLcTwHP5QZ


C. O, S, Se

D. C, Si, Ge

Answer: C

Watch Video Solution

28. The statement that is not correct for the periodic classification of

elements is 

The properties of elements are periodic functions of their atomic

numbers.


Non-metallic elements are lesser in number than metallic elements.


Electronegativity of the elements along the period from left to right

increases in a regular manner.


For transition elements the d-subshells are filled with the electrons

monotonically with increase in atomic number.

A. The properties of elements are periodic functions of their atomic

numbers.

https://dl.doubtnut.com/l/_kvZLcTwHP5QZ
https://dl.doubtnut.com/l/_NQVODsYDmTkh


B. Non-metallic elements are lesser in number than metallic elements.

C. Electronegativity of the elements along the period from left to right

increases in a regular manner.

D. For transition elements the d-subshells are filled with the electrons

monotonically with increase in atomic number.

Answer: D

Watch Video Solution

29. lonization potential of phosphorus is greater than that of sulphur

because

A. of its smaller size.

B. of more penetrating power of p-orbitals.

C. its nuclear force of attraction on electrons.

D. half-filled orbitals are more stable,

https://dl.doubtnut.com/l/_NQVODsYDmTkh
https://dl.doubtnut.com/l/_NrYh7FnJRlfp


Answer: D

Watch Video Solution

30. The electronic configuration of the element which is just above the

element with atomic number 43 in the same periodic group is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1s2, 2s2, 2p6, 3s2, 3p63d5, 4s2

1s2, 2s2, 2p6, 3s2, 3p63d10, 4s2, 4p5

1s2, 2s2, 2p6, 3s2, 3p63d6, 4s1

1s2, 2s2, 2p6, 3s2, 3p63d10, 4s1, 4p6

31. The electron affinity of nitrogen is lower than that of carbon because

https://dl.doubtnut.com/l/_NrYh7FnJRlfp
https://dl.doubtnut.com/l/_l9wAT7ul4SvP
https://dl.doubtnut.com/l/_jgEkliGETdsl


A. atomic radius of nitrogen is lower than that of carbon

B. effective nuclear charge in carbon is greater

C. addition of an electron in N gives  configuration

D. nitrogen is gaseous element

Answer: C

Watch Video Solution

2p4

32. The decreasing order of second ionisation potential of K, Ca and Ba is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K > Ca > Ba

Ca > Ba > K

Ba > K > Ca

K > Ba > Ca

https://dl.doubtnut.com/l/_jgEkliGETdsl
https://dl.doubtnut.com/l/_QXs4L1WLCkur


33. The incorrect statement among the following is:

A. the first ionization potential of Al is less than the first ionization

potential of Mg

B. the second ionization potential of Mg is greater than the second

ionization potential of Na.

C. the first ionization potential of Na is less than the first ionization

potential of Mg.

D. the third ionization potential of Mg is greater than the third

ionization potential of Al.

Answer: B

Watch Video Solution

34. Increasing order of atomic radii is:

https://dl.doubtnut.com/l/_QXs4L1WLCkur
https://dl.doubtnut.com/l/_H7TUGcSk4GrA
https://dl.doubtnut.com/l/_fEGMufO6QvHB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mg2 + < Na+ < Ne < F − < O2 −

Na+ < Mg2 + < Ne < F − < O2 −

O2 − < F − < Ne < Na+ < Mg2 +

Ne < O2 − < F − < Na+ < Mg2 +

35. The sucessive ionisation energy values for an element X are given

below: 

a) 1st ionisation energy=  b)2nd ionisation energy=

 


c) 3rd ionisation energy =  d) 4th ionisation energy = 1500 

 


5th ionisation energy=  


Find out the number of valence electron for the atom, X:

A. 4

410kJmol− 1

820kJmol− 1

1100kJmol− 1

kJmol− 1

3200kJmol− 1

https://dl.doubtnut.com/l/_fEGMufO6QvHB
https://dl.doubtnut.com/l/_IsXqU3YWyKNy


B. 3

C. 5

D. 2

Answer: A

Watch Video Solution

36. The electron affinity values (in  )of three halogens X, Y and Z

are respectively-349,-333 and -325. Then X, Y and Z are respectively:

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

kJmol− 1

F2, Cl2 Br2

Cl2, F2 Br2

Cl2, Br2 F2

Br2, Cl2 F2

https://dl.doubtnut.com/l/_IsXqU3YWyKNy
https://dl.doubtnut.com/l/_AquZ8Nlj8O6V


37. Choose the incorrect statement. : Chemical reactivity tends to be high

in group 1 metals, lower in elements in middle and increases to maximum

in the group 17.,
Halogens have very high negative electron gain enthalpy.,

Noble gases have large positive electron gain enthalpy.,
 Decrease in

electronegativities across a period is accompanied by an increase in non-

metallic properties.

A. Chemical reactivity tends to be high in group 1 metals, lower in

elements in middle and increases to maximum in the group 17.

B. Halogens have very high negative electron gain enthalpy.

C. Noble gases have large positive electron gain enthalpy.

D. Decrease in electronegativities across a period is accompanied by

an increase in non-metallic properties.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AquZ8Nlj8O6V
https://dl.doubtnut.com/l/_oQrlNR2qe7wd


38. In which of the following arrangements, the order is not correct

according to the property indicated against it?

A. Increasing size: 

B. Increasing

C. Increasing 

D. Increasing metallic radius: 

Answer: B

Watch Video Solution

Al3 + < Mg2 + < Na+ < F −

IE1 :B < C < N < O

EA1 : I < Br < F < Cl

Li < Na < K < Rb

39. Sodium cannot exhibit +2 oxidation state because its:

A.  value is less than  , value

B.  , value is higher than  value

C.  and  values are equal

D.  value is zero

IP2 IP1

IP2 IP1

IP2 IP1

IP2

https://dl.doubtnut.com/l/_By58ZM7hQqy3
https://dl.doubtnut.com/l/_nh1PgH2g7zD6


Answer: B

Watch Video Solution

40. Consider the electronic configurations, (i)

 

Which of the following statements is not true?

(a)Energy is required to change (i) to (ii)


(b) (i)represents electronic configuration of Na-atom


(c) (i) and (ii) may represent ground state electronic configuration of

different or same elements


(d) Less energy is required to remove one electron from (ii) than from (i)

A. Energy is required to change (i) to (ii)

B. (i)represents electronic configuration of Na-atom

C. (i) and (ii) may represent ground state electronic configuration of

different or same elements

1s22s22p63s1(ii)1s22s22p63s0

https://dl.doubtnut.com/l/_nh1PgH2g7zD6
https://dl.doubtnut.com/l/_MeZbHegM1PDj


D. Less energy is required to remove one electron from (ii) than from

(i)

Answer: C

Watch Video Solution

41.  and  of Mg are 178 and 348 kcal . The energy required

for the reaction,  is:

A. +170 kcal

B. +526 kcal

C. -170 kcal

D. -526 kcal

Answer: B

Watch Video Solution

IP1 IP2 mol− 1

Mg → Mg2 + + 2e−

https://dl.doubtnut.com/l/_MeZbHegM1PDj
https://dl.doubtnut.com/l/_7ZarvAa1dHnz
https://dl.doubtnut.com/l/_Fp4NdTLyhdws


42. The , and , of an element are 7.1, 14.3, 34.5, 46.8,

162.2eV respectively. The element is likely to be

A. Na

B. Si

C. F

D. Ca

Answer: B

Watch Video Solution

IP1, IP2, IP3, IP4 IP5

43. The electronic configuration corresponding to most metallic element

is:

A. 2, 8,3

B. 2, 8, 8

C. 2, 8, 8, 1

https://dl.doubtnut.com/l/_Fp4NdTLyhdws
https://dl.doubtnut.com/l/_cckebwuO6mOe


D. 2, 8, 8,7

Answer: C

Watch Video Solution

44. The valence shell of element A contains 3 electrons while the valency

shell of element B contains 6 electrons. IfA combines with B, the probable

formula of the compound formed will be:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AB2

A2B

A2B3

A3B2

https://dl.doubtnut.com/l/_cckebwuO6mOe
https://dl.doubtnut.com/l/_4I3biPwfkeX4
https://dl.doubtnut.com/l/_tPAwpzWelkR1


45. What is the atomic number of last member of the seventh period of

the extended form of periodic table?

A. 116

B. 118

C. 120

D. 122

Answer: B

Watch Video Solution

46. The electronic configuration of four elements are: 

1.  2)  3)  4)  

Which one of the following statements about these elements is not

correct?

A. 1 is a strong reducing agent

B. 2 is a d-block element

[Xe]6s1 [Xe]4f 14, 5d1, 6s2 [Ar]4s2, 3d10, 4p5 [Ar]3d7, 4s1

https://dl.doubtnut.com/l/_tPAwpzWelkR1
https://dl.doubtnut.com/l/_0PfZx2XAPKC4


C. 3 has high electron affinity

D. 4 shows variable oxidation state

Answer: B

Watch Video Solution

47. Beryllium and aluminium exhibit many properties which are similar.

But the two elements differ in:

A. exhibiting amphoteric nature in their oxides

B. forming polymeric hydrides

C. forming covalent halides

D. exhibiting maximum covalence in compounds

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0PfZx2XAPKC4
https://dl.doubtnut.com/l/_nbuc8ecwoxZ3
https://dl.doubtnut.com/l/_TMt8qwolcnOR


48. Which among the following statements is not true for the long form

of the periodic table?

A. It reflects the sequence of filling the electrons in the order of sub-

energy level s, p, d and f

B. It helps to predict the stable valency states of the elements

C. It reflects trends in physical and chemical properties of the

elements

D. It helps to predict the relative ionicity of the bond between any two

elements

Answer: B

Watch Video Solution

49. Which of the following order is wrong?

A. O > F > N > C − IIndI. P

https://dl.doubtnut.com/l/_TMt8qwolcnOR
https://dl.doubtnut.com/l/_rx4ZoalLQqrV


B.  Ionic radius

C. 

D. 

Answer: D

Watch Video Solution

S − 2 > Cl− > K + > Ca+ 2 −

N > C > P > Si − E. N

F > Na > Ne − 1stI. P

50. Which one of the following statements is correct?

A. The elements like F, Cl, Br, O etc. having high values of electron

affinity act as strong oxidising agent

B. The elements having low values of ionisation energies acts as

strong reducing agent

C. The formation of  is an endothermic process

D. All of these

Answer: D

S2 −

https://dl.doubtnut.com/l/_rx4ZoalLQqrV
https://dl.doubtnut.com/l/_ui0lSuP5meuL


Level Ii Assertion Reason Type

Watch Video Solution

1. Assertion : The  IP of Be is greater than that of B 


Reason : 2p orbital is lower in energy than 2s

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

1st

https://dl.doubtnut.com/l/_ui0lSuP5meuL
https://dl.doubtnut.com/l/_leMRZQwhQxPy
https://dl.doubtnut.com/l/_1Cms1MUt1suf


2. Assertion : Nitrogen has higher first ionization energy than that of

oxygen. 

Reason : Nitrogen gas has smaller atomic size than that of oxygen.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

3. Assertion: lonization potential of K is numerically the same as electron

affinity  


Reason : I.E. and E.A. both depends on screeing effect.

K +

https://dl.doubtnut.com/l/_1Cms1MUt1suf
https://dl.doubtnut.com/l/_LbRGJsNzdJfE


A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

4. Assertion Both  and  are diamagnetic substances. 


Reason :  is isoelectronic with  .

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

N2 NO+

NO+ N2

https://dl.doubtnut.com/l/_LbRGJsNzdJfE
https://dl.doubtnut.com/l/_kpHqXvP33csh


B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

5. Assertion :  is estimated as , but not as  


Reason : Ionic radius of  is smaller than that of 

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

SO
2 −
4 BaSO4 MgSO4

Mg2 + Ba2 +

https://dl.doubtnut.com/l/_kpHqXvP33csh
https://dl.doubtnut.com/l/_yPCjHKjqSJQm


D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

6. Assertion: The lattice energies depend upon the reciprocals of the

distance between the ions  , 


Reason : For the given positive ion, the lattice energy increases as the

size of the anion increases.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

1

r0

https://dl.doubtnut.com/l/_yPCjHKjqSJQm
https://dl.doubtnut.com/l/_vKQ6xT853N2T


Answer: C

Watch Video Solution

7. Assertion: Of all the elements, helium has the highest value of first

ionization enthalpy. 

Reason: Helium has the most positive electron gain enthalpy of all the

elements.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vKQ6xT853N2T
https://dl.doubtnut.com/l/_tBZNKZnQBFqZ


8. Assertion:  and  are isoelectronic but the magnitude of the

ionic radius of  is less than that of  

Reason: The magnitude of effective nuclear charge of the outer shell

electrons in  is greater than in 

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

Na+ Al3 +

Al3 + Na+

Al3 + Na+

https://dl.doubtnut.com/l/_tBZNKZnQBFqZ
https://dl.doubtnut.com/l/_4WjUJ5t0uCC0


9. Assertion : F atom has a less negative election gain enthalpy than Cl

atom. 

Reason : Additional electrons are repelled more effectively by 3p

electrons in Cl atom than by 2p electrons in F-atom.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_SNcHgd7yYm1J


10. Assertion : Noble gases have positive electron gain enthalpy. 

Reason : Noble gases have stable closed shell electronic configuration.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

11. Assertion: The highest oxidation state of Os is +8. 

Reason: Osmium is a 5d-block element.

https://dl.doubtnut.com/l/_Nma2Gm2Pi2Jr
https://dl.doubtnut.com/l/_xrwiSo9ArtgS


A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

12. Assertion : The atomic size generally increases across a period and

decreases down the group. 

Reason: Atomic size depends upon valence shell electronic configuration.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

https://dl.doubtnut.com/l/_xrwiSo9ArtgS
https://dl.doubtnut.com/l/_goTEqHTU1tLa


B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: D

Watch Video Solution

13. Assertion: Among isoelectronic species, the cation with the greater

positive charge will have a smaller radius. 

Reason :Greater is the attraction of the electrons to the nucleus, smaller

is the size of atom/ion.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

https://dl.doubtnut.com/l/_goTEqHTU1tLa
https://dl.doubtnut.com/l/_t8hYT7dcStF6


C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

14. Assertion: On moving down the group, ionization enthalpy decreases. 

Reason: With decrease in size of the atom, the force of attraction

between the nucleus and valence electrons decreases.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

https://dl.doubtnut.com/l/_t8hYT7dcStF6
https://dl.doubtnut.com/l/_5TGTkxFRVuuU


Answer: C

Watch Video Solution

15. Assertion: Shielding effect increases as we go down the group. 

Reason: More is the number of electrons in the penultimate shell, more is

the shielding

A. If both (A) and (R) are correct, but (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5TGTkxFRVuuU
https://dl.doubtnut.com/l/_GhEUQgKrpvrj


16. Assertion:  is basic oxide whereas  is acidic oxide. 


Reason: Elements on extreme left of the periodic table from basic oxides

whereas elements on extreme right form acidic oxides.

A. If both (A) and (R) are correct, but (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

Na2O Cl2O7

17. Assertion: The ionization of s-electrons requires more energy than

that for the ionization of p-electrons in the same shell. 

https://dl.doubtnut.com/l/_zhVFwRzfSTGk
https://dl.doubtnut.com/l/_wajYs6wspwiE


Reason: s-electrons are closer to the nucleus than p-electrons and hence

are more strongly attracted by nucleus.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

18. Assertion: The ionic size of  is bigger than that of  ion. 

Reason: The  and  are isoelectronic ions.

O2 − F −

O2 − F −

https://dl.doubtnut.com/l/_wajYs6wspwiE
https://dl.doubtnut.com/l/_u5IKB5E2r3T0


A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

19. Assertion: When the atoms of first transition series ionize, the 4s-

orbital electrons are ionized before 3d-orbital electrons. 

Reason: The energy of 3d-orbital electron is lower than that of 4s-orbital

electrons.

A. If both (A) and (R) are correct, but (R) is the correct explanation of

(A).

https://dl.doubtnut.com/l/_u5IKB5E2r3T0
https://dl.doubtnut.com/l/_hWfF9RJn0fSB


B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

20. Assertion: The ionization of s-electrons requires more energy than

that for the ionization of p-electrons in the same shell. 

Reason: s-electrons are closer to the nucleus than p-electrons and hence

are more strongly attracted by nucleus.

A. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A)

https://dl.doubtnut.com/l/_hWfF9RJn0fSB
https://dl.doubtnut.com/l/_f4zDJopEWXNG


Questions

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

1. Find the blocks to which elements having atomic numbers 34, 37, 42 , 63

belong.

Watch Video Solution

2. Predict the period, group and block to which elements with atomic

numbers 9, 22, 35, 47 belong.

Watch Video Solution

https://dl.doubtnut.com/l/_f4zDJopEWXNG
https://dl.doubtnut.com/l/_I6Qh2QCSIOoD
https://dl.doubtnut.com/l/_xS36A9XZpeU6


3. Name the element with atomic number 119.

Watch Video Solution

4. The electronegativities of carbon and chlorine are 2.5 and 3.00

respectively. Calculate the C-Cl bond length if C-C and Cl-Cl bond distances

are 1.54  and 1.0

Watch Video Solution

A ∘ A ∘

5. The electron gain ethalpy of chlorine is -  . Calculate the

energy released when 5.5g of chlorine is converted into  ions in the

gaseous state.

Watch Video Solution

349kJmol− 1

Cl−

https://dl.doubtnut.com/l/_osszOseWTfnw
https://dl.doubtnut.com/l/_7GTdhnmF3fXr
https://dl.doubtnut.com/l/_GztQAqmHwCUZ


6. Calculate the N-O bond distance if covalent radii of nitrogen and

oxygen atoms are respectively, 0.75  and 0.74  and the

electronegativities are 3.0 and 3.5.

Watch Video Solution

A ∘ A ∘

7. What is the effective nuclear charge, felt by a 1s electron of the helium

atom ?

Watch Video Solution

8. Calculate the  felt by a 2p electron of the nitrogen atom.

Watch Video Solution

Zeff

9. Calculate the  at the periphery of the chromium atom.

Watch Video Solution

Zeff

https://dl.doubtnut.com/l/_SZ5fqZqqivPS
https://dl.doubtnut.com/l/_UYm1CLWoakJ3
https://dl.doubtnut.com/l/_JXuBjvVw41KS
https://dl.doubtnut.com/l/_Uw8xH5XtAFSu


Questions Level I

10. Calculate the electronegativity of carbon from the following data:

Watch Video Solution

EH −H = 104.2kcalmol− 1, EC−C = 83.1kcalmol− 1, EC−H = 98.8kcalmol

XH = 2.1

11. Calculate the electronegativity of silicon ( covalent radius= 1.175 Å)

Watch Video Solution

1. Which pair of atomic numbers represents s-block elements?

A. 7,15

B. 6, 12

C. 9,17

https://dl.doubtnut.com/l/_Uw8xH5XtAFSu
https://dl.doubtnut.com/l/_Y5rUyezUQ6e5
https://dl.doubtnut.com/l/_OJS4Yj3R2C9F
https://dl.doubtnut.com/l/_bakmuc8RwYjz


D. 3, 12

Answer: D

Watch Video Solution

2. The atomic radius increases as we move down a group because

A. effective nuclear charge increases

B. atomic mass increases

C. added electrons are accommodated in new electron level

D. atomic number increases

Answer: C

Watch Video Solution

3. Which one of the following ions has the smallest radius?

https://dl.doubtnut.com/l/_bakmuc8RwYjz
https://dl.doubtnut.com/l/_9TIHUQVhoVDb
https://dl.doubtnut.com/l/_MUh98whha0ej


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl−

S2 −

K +

Ca2 +

4. Consider the ions: 'K^+, S^(2-), Cl^-' and 'Ca^(2+) .' The radii of these

ionic species follow the order:

A. 

B. 

C. 

D. 

Answer: C

Ca2 + > K + > Cl− >S2 −

Cl− >S2 − > K + > Ca2 +

S2 − > Cl− >K + > Ca2 +

K + > Ca2 + > S2 − > Cl−

https://dl.doubtnut.com/l/_MUh98whha0ej
https://dl.doubtnut.com/l/_9d2nu0wVTJ2e


Watch Video Solution

5. The radius of  is minimum in which of the following compounds?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cr

K2CrO4

CrF3

CrO2

CrCl3

6. The set representing the correct order of first ionization potential is

A. 

B. 

C. 

K > Na > Li

Be > Mg > Ca

B > C > N

https://dl.doubtnut.com/l/_9d2nu0wVTJ2e
https://dl.doubtnut.com/l/_boe9MVKptjWf
https://dl.doubtnut.com/l/_XDM6NRXBBJdV


D. 

Answer: B

Watch Video Solution

Ge > Si > C

7. Which of the following has least electron affinity?

A. Oxygen

B. Argon

C. Nitrogen

D. Boron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XDM6NRXBBJdV
https://dl.doubtnut.com/l/_LdwEAMxeBsTH


8. Which of the following statements is correct with respect to the

property of elements with an increase in atomic number in the carbon

family (group 14)?

A. Atomic size decreases

B. Ionization energy increases

C. Metallic character decreases

D. Stability of+2 oxidation state increases

Answer: D

Watch Video Solution

9. The element with the electronic configurations as 

represents

A. Metal

B. Non-metal

(Ar)3d104s24p3

https://dl.doubtnut.com/l/_ZrP3fwZF2fUa
https://dl.doubtnut.com/l/_dsYlCNOFM8z9


C. Metalloid

D. Transition metal

Answer: C

Watch Video Solution

10. The law of triads is not applicable with

A. CI, Br, I

B. Na, K, Rb

C. S, Se, Te

D. Ca, Sr, Ba

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dsYlCNOFM8z9
https://dl.doubtnut.com/l/_XmszV20DJ4KL


11. If Aufbau rule is not followed, K-19 will be placed in........... block.

A. s

B. p

C. d

D. f

Answer: C

Watch Video Solution

12. Following triads have approximately equal size

A.  (iso-electronic)

B.  (iso-electronic)

C. Fe,Co,Ni

D.  (iso-electronic)

Na+ , Mg2 + , Al3 +

F − , Ne, O2 −

Mn, Fe2 + , Cr

https://dl.doubtnut.com/l/_NanFcANDP2XI
https://dl.doubtnut.com/l/_VsHDGVQ2K2KL


Answer: C

Watch Video Solution

13. Which pair is different from the others?

A. Li-Mg

B. Na-K

C. Ca-Mg

D. B-Al

Answer: A

Watch Video Solution

14. Which is/are amphoteric oxides?

A. BeO

https://dl.doubtnut.com/l/_VsHDGVQ2K2KL
https://dl.doubtnut.com/l/_Hbj9cW2OXqn7
https://dl.doubtnut.com/l/_pCxSH4NRYhZv


B. SnO

C. ZnO

D. All of these

Answer: D

Watch Video Solution

15. Second electron affinity of an element

A. is always negative

B. is always positive

C. can be positive or negative

D. is always zero

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pCxSH4NRYhZv
https://dl.doubtnut.com/l/_YFxOWpba8yuO
https://dl.doubtnut.com/l/_xFhthjonzQ1q


16. Ionisation energy of  is  . The electron gain enthalpy

of fluorine would be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F Ɵ 320kJmol− 1

−320kJmol − 1

−160kJmol − 1

+320kJmol − 1

+160kJmol − 1

17. Which of the following element has the highest EN?

A. As

B. Sb

C. P

D. S

https://dl.doubtnut.com/l/_xFhthjonzQ1q
https://dl.doubtnut.com/l/_qDVTuNnlL7I8


Answer: D

Watch Video Solution

18. Which of the following oxides is most basic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2O

MgO

Al2O3

CuO

19. The IUPAC name for the element with atomic number, Z=119 is.

A. Unp

https://dl.doubtnut.com/l/_qDVTuNnlL7I8
https://dl.doubtnut.com/l/_JvaHY0QxjfOb
https://dl.doubtnut.com/l/_JKAUt2tAG6aq


B. UnsC

C. Uno

D. Uue

Answer: D

Watch Video Solution

20. An element which lies in the same group of the periodic table as

mercury is

A. Gold

B. Tin

C. Thalium

D. Cadmium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JKAUt2tAG6aq
https://dl.doubtnut.com/l/_ybdALXrZEzEu


21. Eka-aluminium and Eka-silicon are

A. Gallium and germanium

B. Aluminium and silicon

C. Iron and sulphur

D. Carbon and silicon

Answer: A

Watch Video Solution

22. Considering the elements from left to right in the third period of the

periodic table, the atomic volume of the elements:

A. first decreases then increases

B. decreases

C. increases at constant rate

https://dl.doubtnut.com/l/_ybdALXrZEzEu
https://dl.doubtnut.com/l/_nc3vFHg71weu
https://dl.doubtnut.com/l/_8CvRKyxCAMpl


D. remains unchanged

Answer: A

Watch Video Solution

23. Which of the following ions has the largest heat of hydration?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na+

Al3 +

F −

Sr2 +

24. According to Moseley, a straight line graph is obtained on plotting.

https://dl.doubtnut.com/l/_8CvRKyxCAMpl
https://dl.doubtnut.com/l/_S7gZ8sr6sRUN
https://dl.doubtnut.com/l/_hWnLQRTAJl0l


A. v vs. Z

B.  vs. Z

C. 

D. 

Answer: C

Watch Video Solution

v2

√vvs. Z

vs. Z
1

V

25. An element having electronic configuration 

forms:

A. Acidic oxide

B. Basic oxide

C. Amphoteric oxide

D. Neutral oxide

Answer: B

1s22s22p63s23p64s1

https://dl.doubtnut.com/l/_hWnLQRTAJl0l
https://dl.doubtnut.com/l/_Zbld6uCINONO


Watch Video Solution

26. The first ionisation potential of Na, Mg, Al and Si are in the order

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na < Mg > Al < Si

Na > Mg > Al > Si

Na < Mg < Al > Si

Na > Mg > Al < Si

27. The pair of elements violating the law of octaves among the following

are

A. Li & Na

B. Mg & Ca

https://dl.doubtnut.com/l/_Zbld6uCINONO
https://dl.doubtnut.com/l/_jyKWsQBnQzel
https://dl.doubtnut.com/l/_o1FuRpP0CW5q


C. QP & As

D. F & C

Answer: C

Watch Video Solution

28. Diagonal relationship is due to

A. Identical valency

B. Identical oxidation state

C. Identical maximum covalency

D. Compensation of change in electronegativity across a period by

that in a group.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_o1FuRpP0CW5q
https://dl.doubtnut.com/l/_nJ2u51iW4kbJ
https://dl.doubtnut.com/l/_zfqTXf8svSYU


29. The atom having the valence shell electronic configuration 

would be in:

A. Group 2 and period 3

B. Group 2 and period 4

C. Group 14 and period 4

D. Group 14 and period 3

Answer: C

Watch Video Solution

4s24p2

30. The general electronic configuration of transition elements is:

A. 

B. 

C. 

D. 

ns1 − 2(n − 1)d1 − 10

ns2(n − 1)d10

(n − 1)d10s2

ns2np5

https://dl.doubtnut.com/l/_zfqTXf8svSYU
https://dl.doubtnut.com/l/_JIALBZktlWxB


Answer: A

Watch Video Solution

31. The ionic radii of isoelectronic species 'N^(3-), O^(2-)' and 'F^-' in 'Â 0'

are in the order

A. 1.36, 1.40, 1.71

B. 1.36, 1.71, 1.40

C. 1.71, 1.40, 1.36

D. 1.71, 1.36, 1.40

Answer: C

Watch Video Solution

32. Which of the following is isoelectronic series:

https://dl.doubtnut.com/l/_JIALBZktlWxB
https://dl.doubtnut.com/l/_GcG4ImwKz1un
https://dl.doubtnut.com/l/_8GihHEzUEYbt


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl− , P 2 −Ar

N 2 − , Ne, Mg+ 2

B+ 3, He, Li+

N 2 − , S2 − , Cl

33. The radius of isoelectronic series

A. Decreases with decreasing nuclear charge

B. Decreases with increasing effective nuclear charge

C. Same for all

D. First increases then decreases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8GihHEzUEYbt
https://dl.doubtnut.com/l/_2GELZaMK4tpo


34. In a period, the elements having least melting point are:

A. Noble gas

B. Alkali metals

C. Chalcogens

D. Pnicogens

Answer: A

Watch Video Solution

35. Which of the following represents a correct sequence of

electronegativity values?

A. 

B. 

C. 

F > N > O > C

F > N < O > C

F > N > C > O

https://dl.doubtnut.com/l/_2GELZaMK4tpo
https://dl.doubtnut.com/l/_hdLlRwblF4ib
https://dl.doubtnut.com/l/_nuZZFEesHbJd


D. 

Answer: B

Watch Video Solution

F < N < O < C

36. Which of the following order of atomic/ionic radius is not correct

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I − > I > I +

Mg2 + > Na+ > F −

Cr3 + < Cr2 +

Li > Be > B

https://dl.doubtnut.com/l/_nuZZFEesHbJd
https://dl.doubtnut.com/l/_AFCYRAxTBm1O


37. The best reason to account for the general tendency of atomic

diameters to decrease as the atomic number increase within a period of

the periodic table is the fact that

A. Outer electrons repel inner electrons

B. Closer packing among the nuclear particles is achieved

C. The number of neutrons increases

D. The increasing nuclear charge exerts a greater attractive force on

the electrons

Answer: D

Watch Video Solution

38. In which of the following pairs, the ionisation energy of the first

species is less than that of the second

A. O− , O2 −

https://dl.doubtnut.com/l/_rvHvrjJDFIzf
https://dl.doubtnut.com/l/_SrramVPl6E7P


B. S,P

C. N,P

D. 

Answer: B

Watch Video Solution

Be+ , Be

39. Which of the following is the correct order of stability of

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al+ , Al+ 2, Al+ 3

Al+ 3 > Al+ 2 > Al+

Al+ 2 > Al+ 3 > Al+

Al+ 2 < Al+ > Al+ 2

Al+ 3 > Al+ > Al+ 2

https://dl.doubtnut.com/l/_SrramVPl6E7P
https://dl.doubtnut.com/l/_xCQ15o9rT16Z


40. Which of the following transitions involves maximum amount of

energy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M − ( g ) → M(g)

M(g) → M + (g)

M + (g) → M 2 + (g)

M ∧ (2 + )(g) → M 3 + (g)

41. Which order is wrong:

A. Electronegativity - P lt N lt O lt F

B. Ist ionisation potential - B lt Be lt O lt N

C. Basic property - MgO gt CaO gt FeO gt Fe2O3

https://dl.doubtnut.com/l/_xCQ15o9rT16Z
https://dl.doubtnut.com/l/_wZwTF6xhvPIa
https://dl.doubtnut.com/l/_zSpQAmGhD5Cg


D. Reactivity - Be lt Li lt K lt Cs

Answer: C

Watch Video Solution

42. Decreasing order of size of ions is :  ,

, ,

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Br− >S − 2 > Cl− >N − 3

N 3 − > S − 2 > Cl− >Br− Br− >Cl− >S − 2 > N − 3

N − 3 > Cl− >S − 2 > Br−

Br− >S − 2 > Cl− >N − 3

N 3 − > S − 2 > Cl− >Br−

Br− >Cl− >S − 2 > N − 3

N − 3 > Cl− >S − 2 > Br−

https://dl.doubtnut.com/l/_zSpQAmGhD5Cg
https://dl.doubtnut.com/l/_s1AwWL2aonAp
https://dl.doubtnut.com/l/_PZmVPj68WxT2


43. Which of the following reason best explains that Zinc does not show

the variable valency as elements of d-block:

A. This is soft metal

B. completely filled 3d-level

C. Its melting point is low

D. Volatile Metal

Answer: B

Watch Video Solution

44. The correct order of ionization energies of ,  and  is

A. 

B. 

C. 

D. 

F − , Cl− F Cl

Cl < D < Cl− <F −

Cl− <F − <Cl < F

F − <Cl− <Cl < F

Cl− <Cl < F − <F

https://dl.doubtnut.com/l/_PZmVPj68WxT2
https://dl.doubtnut.com/l/_ELMzGwmyS2Qa


Answer: C

Watch Video Solution

45. Lanthanoid contraction is caused due to:

A. the same effective nuclear charge from Ce to Lu

B. the imperfect shielding on outer electrons by 4f electrons from the

nuclear charge

C. the appreciable shielding on outer electrons by 4f electrons from

the nuclear charge

D. the appreciable shielding on outer electrons by 5d electrons from

the nuclear charge

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ELMzGwmyS2Qa
https://dl.doubtnut.com/l/_NuzMKhaUY1Te
https://dl.doubtnut.com/l/_K6Re0og9i4Yz


46. Among the following statement which one is correct with respect to

the property of element with an increase in atomic number in the carbon

family (group 14)

A. Atomic size decreases

B. Ionisation energy increase

C. Metallic character decrease

D. Stability of+2 oxidation state increase

Answer: D

Watch Video Solution

47. The elements which occupy the peaks of ionization energy curve, are

A. Na, K, Rb, Cs

B. Na, Mg, CI, I

C. CI, Br, I, F

https://dl.doubtnut.com/l/_K6Re0og9i4Yz
https://dl.doubtnut.com/l/_3XwjyasK6vj1


D. He, Ne, Ar, Kr

Answer: D

Watch Video Solution

48. Ionic radii of

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ti4 + < Mn2 +

35Cl− > 37Cl−

K + > Cl−

P 3 + > P 5 +

49. In which block, 106th element belongs

https://dl.doubtnut.com/l/_3XwjyasK6vj1
https://dl.doubtnut.com/l/_muM7raTSpf8l
https://dl.doubtnut.com/l/_uc5aHRo7n21x


A. s-block

B. p-block

C. d-block

D. f-block

Answer: C

Watch Video Solution

50. Similarity in chemical properties of the atoms of elements in a group

of the periodic table is most closely related to

A. atomic numbers

B. atomic masses

C. number of principal energy levels

D. number of valence electrons

Answer: D

https://dl.doubtnut.com/l/_uc5aHRo7n21x
https://dl.doubtnut.com/l/_S0PUih3Ibt9Z


Questions Level Ii

Watch Video Solution

1. The statement that is not correct for the periodic classification of

elements is

A. The properties of elements are a periodic function of their atomic

numbers

B. Non-metallic elements are less in number than metallic elements

C. The first ionization energies of elements along a period do not vary

in a regular manner with increase in atomic number

D. For transition elements, the d-subshells are filled with electrons

monotonically with increase in atomic number

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_S0PUih3Ibt9Z
https://dl.doubtnut.com/l/_b6xrVvMAJc3H


2. Amongst the following elements (where electronic configurations are

given below), the one having the highest ionisation enthaipy is 'therefore'

[Ne] , [Ne] , [Ne] , [Ne] 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3s23p1 3s23p3 3s23p2 3d104s24p2

[Ne]3s23p1

[Ne]3s23p3

[Ne]3s23p2

[Ar]3d104s24p3

3. The electron affinities of halogens are: F=332, CI =439, Br=324, I=295 kJ

. The higher value for Cl as compared to that of F is due to

A. Higher atomic radius of F

mol− 1

https://dl.doubtnut.com/l/_b6xrVvMAJc3H
https://dl.doubtnut.com/l/_SN5rJOFc1eMV
https://dl.doubtnut.com/l/_anPqlNXvU8tv


B. Smaller electronegativity off

C. Weaker electron-electron repulsion in Cl

D. More vacant p-subshell in Cl

Answer: C

Watch Video Solution

4. The , and , of an element are 7.1, 14.3, 34.5, 46.8,

162.2eV respectively. The element is likely to be

A. Na

B. Si

C. F

D. Cs

Answer: B

Watch Video Solution

IP1, IP2, IP3, IP4 IP5

https://dl.doubtnut.com/l/_anPqlNXvU8tv
https://dl.doubtnut.com/l/_WbNJP32kPkwk


5. Calculate the energy needed to convert three moles of sodium atoms

in the gaseous state to sodium ions, The ionization energy of sodium is

A. 1485 kJ

B. 495 kJ

C. 148.5 kJ

D. None

Answer: A

Watch Video Solution

495kJmol− 1

6. Which is correct in the following?

A. Radius of Cl atom is 0.99 Å, while that of  ion is 1.54 Å

B. Radius of Cl atom is 0.99 Å, while that of Na atom is 1.86 Å

Cl+

https://dl.doubtnut.com/l/_WbNJP32kPkwk
https://dl.doubtnut.com/l/_ZP4bhriDVUsL
https://dl.doubtnut.com/l/_k9JA70WBLiRy


C. Radius of Cl atom is 0.95 Å, while that of  ion is 0.81Å

D. Radius of Na atom is 0.95 Å, while that of  ion is 1.86Å

Answer: B

Watch Video Solution

Cl−

Na+

7. The formation of the oxide ion  (g) requires first an exothermic and

then an endothermic step as shown below, 

 


 

This is because : oxygen is more electronegative, oxygen has high

electron affinity,  ion will tend to resist the addition of another

electron ,  ion has comparatively larger size than oxygen atom

A. oxygen is more electronegative

B. oxygen has high electron affinity

C.  ion will tend to resist the addition of another electron

O2 −

O(g) + e− = O− (g), ΔH ∘ = − 142kJmol− 1

O− (g) + e− = O2 − (g), ΔH ∘ = 844kJmol− 1

O−

O−

O−

https://dl.doubtnut.com/l/_k9JA70WBLiRy
https://dl.doubtnut.com/l/_XLj5hK3VeeUx


D.  ion has comparatively larger size than oxygen atom

Answer: C

Watch Video Solution

O−

8. The correct order of increasing ionic character is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BeCl2 < MgCl2 < CaCl2 < BaCl2

BeCl2 < BaCl2 < MgCl2 < BaCl2

BaCl2 < CaCl2 < MgCl2 < BeCl2

MgCl2 < CaCl2 < BaCl2 < BaCl2

https://dl.doubtnut.com/l/_XLj5hK3VeeUx
https://dl.doubtnut.com/l/_VH2DHCWrkSvm


9. Ionisation potential and electron affinity of fluorine are 17.42 and 3.45

eV respectively. Calculate the electronegativity of fluorine.

A. 3.726

B. 2.726

C. 1.726

D. 5.726

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_4F4hH2crzQNJ


10. The graph of  or  versus atomic number (Z) is given below: 

 

Which of the following statement is correct? : Alkali metals are at the

maxima and noble gases at the minima, Noble gases are at the maxima

and alkali metals at the minima, Transition elements are the maxima. ,

Minima and maxima do not show any regular behaviour.

A. Alkali metals are at the maxima and noble gases at the minima

B. Noble gases are at the maxima and alkali metals at the minima.

C. Transition elements are the maxima.

D. Minima and maxima do not show any regular behaviour.

Answer: B

W h Vid S l i

IE1 ΔiH
Θ

1

https://dl.doubtnut.com/l/_Xj2PMCLy1lhO


Watch Video Solution

11. Elements a, b, c, d and e have the following electronic configuration 

(a)  (b)  (c)  (d) 

 (e)  


Which among these will belong to the same group in the periodic table ?

a & d,
b&c,
a & b,
a & e

A. a&d

B. b&c

C. a&b

D. a&e

Answer: C

Watch Video Solution

1s22s22p1 1s22s22p63s23p1 1s22s22p63s23p3

1s22s22p63s23p5 1s22s22p63s23p64s2

12. Which of the following order is wrong?

https://dl.doubtnut.com/l/_Xj2PMCLy1lhO
https://dl.doubtnut.com/l/_DxJDgnifl5ku
https://dl.doubtnut.com/l/_gMqf5o7fUxpq


A.  - acidic character

B.  - ionic radius in gaseous state

C. 

D.  - increasing metallic radius

Answer: C

Watch Video Solution

NH3 < PH3 < AsH3

Li+ < Na+ < K + < Cs+

Li < Be < B < C − IE1

Li < Na < K < Rb

13. General electronic configuration of outermost and penultimate shell

of an atom is  If n= 4 and x=5, then

number of protons in the nucleus will be:

A. 26

B. 24

C. 25

D. 30

[Ne](n − 1)s2(n − 1)p6(n − 1)dxns2

https://dl.doubtnut.com/l/_gMqf5o7fUxpq
https://dl.doubtnut.com/l/_TbasKmQkxW0E


Answer: C

Watch Video Solution

14. An element X belongs to fourth period and fifteenth group of the

periodic table. Which one of the following is true regarding the outer

electronic configuration of X? It has:

A. partially filled d-orbitals and completely filled s-orbital

B. completely filled s-orbital and completely filled p-orbitals

C. completely filled s-orbital and half-filled p-orbitals

D. half-filled d-orbitals and completely filled s-orbital

Answer: C

Watch Video Solution

15. The correct order of decreasing first ionization energy is:

https://dl.doubtnut.com/l/_TbasKmQkxW0E
https://dl.doubtnut.com/l/_yFuzmTfjLpae
https://dl.doubtnut.com/l/_KF2ZzZK0ANvz


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Si > Al > Mg > Na

Si > Mg > Al > Na

Al > Si > Mg > Na

Mg > Li > Al > Si

16. Similarity in chemical properties of the atoms of elements in a group

of the periodic table is most closely related to

A. atomic numbers

B. atomic masses

C. number of principal energy levels

D. number of valence electrons

Answer: D

https://dl.doubtnut.com/l/_KF2ZzZK0ANvz
https://dl.doubtnut.com/l/_cQyeLroaZwXX


Watch Video Solution

17. In the long form of the periodic table, the valence shell electronic

configuration of  corresponds to the element present in:

A. Group 16 and period 6

B. Group 17 and period 5

C. Group 16 and period 5

D. Group 17 and period 6

Answer: C

Watch Video Solution

5s25p4

18. In which of the following sets of atomic numbers, all the elements do

not belong to the same group?

A. 3, 11, 37

https://dl.doubtnut.com/l/_cQyeLroaZwXX
https://dl.doubtnut.com/l/_ULtZhbR1r5TU
https://dl.doubtnut.com/l/_qJV6siK3tgIp


B. 12,38,56

C. 10, 16, 24

D. 10,18,54

Answer: C

Watch Video Solution

19. Which of the following element is just below in the E.C. of

A. As

B. Ge

C. Sb

D. Sn

Answer: C

Watch Video Solution

[Ne]3s23p64s23d104p3

https://dl.doubtnut.com/l/_qJV6siK3tgIp
https://dl.doubtnut.com/l/_95IVqIUQfey3


20. Chloride of an element A gives neutral solution in water. In the

periodic table, the element A belongs to

A. first group

B. third group

C. fifth group

D. first transition series

Answer: A

Watch Video Solution

21. Write the period number, group number and block of the element

having atomic number 42

A. 5,5, d

B. 5,6,d

https://dl.doubtnut.com/l/_95IVqIUQfey3
https://dl.doubtnut.com/l/_BqvywbSMe1jx
https://dl.doubtnut.com/l/_3bZYYDWjnBnp


C. 5,2,d

D. 5, 15, p

Answer: B

Watch Video Solution

22. Among the elements with the following atomic numbers, which are d-

block elements? 

I) 29 II) 81 III) 46 IV) 58

A. I, IV

B. IV, II

C. I, III

D. II, III

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3bZYYDWjnBnp
https://dl.doubtnut.com/l/_6u1xyZtL0xGX


23. If the atomic number of an inert gas element is Z, then an element

with which of the following electronic configurations will have the

highest electronegativity (according to Pauling scale)?

A. Z-1

B. Z-2

C. Z+1

D. Z+2

Answer: A

Watch Video Solution

24. The process requiring absorption of energy is

A. 

B. 

F → F −

Cl → Cl−

https://dl.doubtnut.com/l/_6u1xyZtL0xGX
https://dl.doubtnut.com/l/_LQNjLlrfayVN
https://dl.doubtnut.com/l/_9cR0vvJhqAz0


C. 

D. 

Answer: C

Watch Video Solution

O− >O− 2

H → H −

25. Which of the following is correct regarding the variation of properties

in a group of the periodic table?

A.  : Ionization enthalpy increases

B.  : Electron gain enthalpy with negative sign increases

C.  : Atomic radii increases.

D.  : Noble character increases.

Answer: C

Watch Video Solution

3Li → 19K

9F → 35Br

6C → 32Ge

18Ar → 54Xe

https://dl.doubtnut.com/l/_9cR0vvJhqAz0
https://dl.doubtnut.com/l/_UNwzw42aezLS
https://dl.doubtnut.com/l/_vw1lLkcjGO1G


26. The electronegativity of H, O and X are 2.1, 3.5 and 0.7 respectively. The

correct nature of compound X-O-H is

A. acidic

B. basic

C. amphoteric

D. cannot be predicated

Answer: B

Watch Video Solution

27.  (n-outermost orbit) represents the valence electrons. The

corresponding group elements would be

A. F, Cl, Br

B. N, P, As

C. O, S, Se

ns2np4

https://dl.doubtnut.com/l/_vw1lLkcjGO1G
https://dl.doubtnut.com/l/_3dee2flL2Qly


D. C, Si, Ge

Answer: C

Watch Video Solution

28. The statement that is not correct for the periodic classification of

elements is

A. The properties of elements are periodic functions of their atomic

numbers.

B. Non-metallic elements are lesser in number than metallic elements

C. Electronegativity of the elements along the period from left to right

increases in a regular manner.

D. For transition elements the d-subshells are filled with the electrons

monotonically with increase in atomic number.

Answer: D

https://dl.doubtnut.com/l/_3dee2flL2Qly
https://dl.doubtnut.com/l/_iVuYc5c1qiCK


Watch Video Solution

29. lonization potential of phosphorus is greater than that of sulphur

because

A. of its smaller size

B. of more penetrating power of p-orbitals.

C. its nuclear force of attraction on electrons.

D. half-filled orbitals are more stable.

Answer: D

Watch Video Solution

30. The electronic configuration of the element which is just above the

element with atomic number 43 in the same periodic group is

A. 1s2, 2s2, 2p6, 3s2, 3p6, 3d5, 4s2

https://dl.doubtnut.com/l/_iVuYc5c1qiCK
https://dl.doubtnut.com/l/_4DS8NirNGGuQ
https://dl.doubtnut.com/l/_ZWXWPZ6B1Rvn


B. 

C. 

D. 

Answer: A

Watch Video Solution

1s2, 2s2, 2p6, 3s2, 3p6, 3d10, 4s2, 4p6

1s2, 2s2, 2p6, 3s2, 3p6, 3d6, 4s1

1s2, 2s2, 2p6, 3s2, 3p6, 3d10, 4s1, 4p6

31. The electron affinity of nitrogen is lower than that of carbon because

A. atomic radius of nitrogen is lower than that of carbon

B. effective nuclear charge in carbon is greater

C. addition of an electron in N gives  configuration

D. nitrogen is gaseous element

Answer: C

Watch Video Solution

2p4

https://dl.doubtnut.com/l/_ZWXWPZ6B1Rvn
https://dl.doubtnut.com/l/_vbS55WETQNrn
https://dl.doubtnut.com/l/_ewiMrSN7E9e3


32. The decreasing order of second ionisation potential of K, Ca and Ba is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K > Ca > Ba

Ca > Ba > K

Ba > K > Ca

K > Ba > Ca

33. The incorrect statement among the following is:

A. the first ionization potential of Al is less than the first ionization

potential of Mg

B. the second ionization potential of Mg is greater than the second

ionization potential of Na.

https://dl.doubtnut.com/l/_ewiMrSN7E9e3
https://dl.doubtnut.com/l/_C1qqI0qOK7H5


C. the first ionization potential of Na is less than the first ionization

potential of Mg.

D. the third ionization potential of Mg is greater than the third

ionization potential of Al.

Answer: B

Watch Video Solution

34. Increasing order of atomic radii is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mg2 + < Na+ < Ne < F − <O2 −

Na+ < Mg2 + < Ne < F − <O2 −

O2 − < F − <Ne < Na+ < Mg2 +

Ne < O2 − < F − <Na+ < Mg2 +

https://dl.doubtnut.com/l/_C1qqI0qOK7H5
https://dl.doubtnut.com/l/_IE3fymy9CCZe


35. The sucessive ionisation energy values for an element X are given

below: 

a) 1st ionisation energy=  b)2nd ionisation energy=

 


c) 3rd ionisation energy =  d) 4th ionisation energy = 1500 

 


5th ionisation energy=  


Find out the number of valence electron for the atom, X:

A. 4

B. 3

C. 5

D. 2

Answer: A

Watch Video Solution

410kJmol− 1

820kJmol− 1

1100kJmol− 1

kJmol− 1

3200kJmol− 1

https://dl.doubtnut.com/l/_IE3fymy9CCZe
https://dl.doubtnut.com/l/_mQJRjDF6Pnsq
https://dl.doubtnut.com/l/_aYk1pCQntxrL


36. The electron affinity values (in  )of three halogens X, Y and Z

are respectively-349,-333 and -325. Then X, Y and Z are respectively:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

kJmol− 1

F2, Cl2 and Br2

Cl2, F2 and Br2

Cl2, Br2 and F2

Br2, Cl2 and F2

37. Choose the incorrect statement.

A. Chemical reactivity tends to be high in group 1 metals, lower in

elements in middle and increases to maximum in the group 17.

B. Halogens have very high negative electron gain enthalpy.

C. Noble gases have large positive electron gain enthalpy.

https://dl.doubtnut.com/l/_aYk1pCQntxrL
https://dl.doubtnut.com/l/_tzSLL9Fzpavk


D. Decrease in electronegativities across a period is accompanied by

an increase in non-metallic properties.

Answer: D

Watch Video Solution

38. In which of the following arrangements, the order is not correct

according to the property indicated against it?

A. Increasing size: 

B. Increasing size 

C. Increasing size 

D. Increasing metallic radius: 

Answer: B

Watch Video Solution

Al3 + < Mg2 + < Na+ < F −

IE1 :B < C < N < O

EA1 : I < Br < F < Cl

Li < Na < K < Rb

https://dl.doubtnut.com/l/_tzSLL9Fzpavk
https://dl.doubtnut.com/l/_MKqxz3OkcGS6
https://dl.doubtnut.com/l/_7t0UubtizzVP


39. Sodium cannot exhibit +2 oxidation state because its:

A.  value is less than  value

B.  value is higher than  value

C.  and  values are equal

D.  value is zero

Answer: B

Watch Video Solution

IP2 IP1

IP2 IP1

IP2 IP1

IP2

40. Consider the electronic configurations, (i)

 

Which of the following statements is not true?

A. Energy is required to change (i) to (ii)

B. (i) represents electronic configuration of Na-atom

1s22s22p63s1(ii)1s22s22p63s0

https://dl.doubtnut.com/l/_7t0UubtizzVP
https://dl.doubtnut.com/l/_vBQL7Leutfbo


C. (i) and (ii) may represent ground state electronic configuration of

different or same elements

D. Less energy is required to remove one electron from (ii) than from

(i)

Answer: C

Watch Video Solution

41.  and  of Mg are 178 and 348 kcal . The energy required

for the reaction,  is:

A. +170 kcal

B. +526 kcal

C. -170 kcal

D. -526 kcal

Answer: B

IP1 IP2 mol− 1

Mg → Mg2 + + 2e−

https://dl.doubtnut.com/l/_vBQL7Leutfbo
https://dl.doubtnut.com/l/_HhZjDzVUgVm7


Watch Video Solution

42. The , and , of an element are 7.1, 14.3, 34.5, 46.8,

162.2eV respectively. The element is likely to be

A. Na

B. Si

C. F

D. Ca

Answer: B

Watch Video Solution

IP1, IP2, IP3, IP4 IP5

43. The electronic configuration corresponding to most metallic element

is:

A. 2,8,3

https://dl.doubtnut.com/l/_HhZjDzVUgVm7
https://dl.doubtnut.com/l/_DZxkjQnWGouH
https://dl.doubtnut.com/l/_Qqe5vovho2rC


B. 2,8,8

C. 2,8,8,1

D. 2, 8, 8,7

Answer: C

Watch Video Solution

44. The valence shell of element A contains 3 electrons while the valency

shell of element B contains 6 electrons. IfA combines with B, the probable

formula of the compound formed will be:

A. 

B. 

C. 

D. 

Answer: C

AB2

A2B

A2B3

A3B2

https://dl.doubtnut.com/l/_Qqe5vovho2rC
https://dl.doubtnut.com/l/_tu1jmwYXSum2


Watch Video Solution

45. What is the atomic number of last member of the seventh period of

the extended form of periodic table?

A. 116

B. 118

C. 120

D. 122

Answer: B

Watch Video Solution

46. The electronic configuration of four elements are: 

1.  2)  3)  4)  

Which one of the following statements about these elements is not

correct?

[Xe]6s1 [Xe]4f 14, 5d1, 6s2 [Ar]4s2, 3d10, 4p5 [Ar]3d7, 4s1

https://dl.doubtnut.com/l/_tu1jmwYXSum2
https://dl.doubtnut.com/l/_yRvlHecBoupm
https://dl.doubtnut.com/l/_3JBSk25i5Ufi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Xe]6s1

[Xe]4f 14, 5d1, 6s2

[Ar]4s2, 3d10, 4p5

[Ar]3d7, 4s2

47. The electronic configuration of four elements are: 

1.  2)  3)  4)  

Which one of the following statements about these elements is not

correct?

A. 1 is a strong reducing agent

B. 2 is a d-block element

C. 3 has high electron affinity.

D. 4 shows variable oxidation state

[Xe]6s1 [Xe]4f 14, 5d1, 6s2 [Ar]4s2, 3d10, 4p5 [Ar]3d7, 4s1

https://dl.doubtnut.com/l/_3JBSk25i5Ufi
https://dl.doubtnut.com/l/_D2OvNinvnFWp


Answer: D

Watch Video Solution

48. Beryllium and aluminium exhibit many properties which are similar.

But the two elements differ in:

A. exhibiting amphoteric nature in their oxides

B. forming polymeric hydrides

C. forming covalent halides

D. exhibiting maximum covalence in compounds

Answer: B

Watch Video Solution

49. Which among the following statements is not true for the long form

of the periodic table?

https://dl.doubtnut.com/l/_D2OvNinvnFWp
https://dl.doubtnut.com/l/_rjRna30dUe6C
https://dl.doubtnut.com/l/_8ZVaMxcR7ctM


A. It reflects the sequence of filling the electrons in the order of sub-

energy levels p, d and f

B. It helps to predict the stable valency states of the elements

C. It reflects trends in physical and chemical properties of the

elements

D. It helps to predict the relative ionicity of the bond between any two

elements

Answer: D

Watch Video Solution

50. Which of the following order is wrong?

A. 

B.  - ionic radius

C. 

O > F > N > C − I ∈ dI. P

S − 2 > Cl− >K + > Ca+ 2

N > C > P > Si − E. N

https://dl.doubtnut.com/l/_8ZVaMxcR7ctM
https://dl.doubtnut.com/l/_T9nGyt9xFvCl


D. 

Answer: D

Watch Video Solution

F > Na > Ne − IstI. P

51. Which one of the following statements is correct?

A. The elements like F, CI, Br, O etc. having high values of electron

affinity act as strong oxidising agent

B. The elements having low values of ionisation energies acts as

strong reducing agent

C. The formation of  is an endothermic process

D. All of these

Answer: D

Watch Video Solution

S2 −

https://dl.doubtnut.com/l/_T9nGyt9xFvCl
https://dl.doubtnut.com/l/_uhgZlinYkWMi


Questions Level Iii Single Correct Answer Type

1. First and second ionisation energies of magnesium are 7.646 and 15.035

eV respectively. The amount of energy in kJ needed to convert all the

atoms of magnesium into  ions present in 12 mg of magnesium

vapours is: 1.1,
1.5,
2,
0.5

A. 1.1

B. 1.5

C. 2

D. 0.5

Answer: A

Watch Video Solution

Mg2 +

2. Following statements regarding the periodic trends of chemical

reactivity of the alkali metals and the halogens are given. Which of these

https://dl.doubtnut.com/l/_NOjXnSClkHT1
https://dl.doubtnut.com/l/_5oOutV4YVeV3


statements give the correct picture?

A. The reactivity decreases in the alkali metals but increases in the

halogens with increase in atomic number down the group

B. In both the alkali metals and the halogens, the chemical reactivity

decreases with increase in atomic number down the group

C. Chemical reactivity increases with increase in atomic number down

the group in both the alkali metals and halogens

D. In alkali metals the reactivity increases but in the halogens it

decreases with increase in atomic number down the group

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5oOutV4YVeV3


3. The outer electronic configuration

 is that of

A. S

B. 

C. P

D. 

Answer: A

Watch Video Solution

Cl−

O3 −

4. Which of the following statements is correct for the addition of an

electron to an isolated and gases uni-negatively charged oxygen O-ion?

https://dl.doubtnut.com/l/_d8qWT2x7DDGd
https://dl.doubtnut.com/l/_d6iuH7pnxMFk


A. the addition of electron cannot occur

B. the addition of electron occurs with evolution of energy

C. the addition of electron occurs with absorption of energy

D. none of these

Answer: C

Watch Video Solution

5. The transformation,  involves

A. ionization energy

B. sublimation energy

C. ionization energy and sublimation energy both

D. vapourisation energy

Answer: C

Watch Video Solution

Na(s) → Na+ (g)

https://dl.doubtnut.com/l/_d6iuH7pnxMFk
https://dl.doubtnut.com/l/_N1LmhvKnE5cO


6. In which of the following arrangements, the sequence is not strictly

according to the property given again

A.  increasing oxidizing power.

B.  : increasing acid strength.

C.  : increasing basic strength.

D.  : increasing first ionization enthalpy.

Answer: C

Watch Video Solution

CO2 < SiO2 < SnO2 < PbO2

HF < HCl < HBr < HI

NH3 < PH3 < AsH3 < SbH3

B < C < O < N

7. The cyanide  are isoelectronic. But in contrast to 

is chemically inert because of

A. Low bond energy

B. Absence of bond polarity

CN − &N2 CN − , N2

https://dl.doubtnut.com/l/_N1LmhvKnE5cO
https://dl.doubtnut.com/l/_mS2V0Wy07z7U
https://dl.doubtnut.com/l/_YTImgdtnbCIN


C. Unsymmetrical electron distribution

D. Presence of more number of electrons in bonding orbital

Answer: B

Watch Video Solution

8. Which of the following statement is incorrect?

A. Mendeleev's periodic law was based on atomic numbers of the

element.

B. Zero group was not present in the periodic table when Mendeleev

presented it.

C. The effective nuclear charge  is the atomic number minus

shielding effect.

D. There are four transition series in the periodic table each one

consists of 10 elements.

(Zeff)

https://dl.doubtnut.com/l/_YTImgdtnbCIN
https://dl.doubtnut.com/l/_w1aTTiNao1uf


Questions Level Iii Multiple Correct Answers Type

Answer: A

Watch Video Solution

1. Choose the correct statements

A. Element with lowest electronegativity is Cs

B. Element with highest electronegativity is F

C. Element with highest first ionisation potential is He

D. Element with lowest first ionisation potential is I.

Answer: A::B::C

Watch Video Solution

2. Choose the correct order of radius

https://dl.doubtnut.com/l/_w1aTTiNao1uf
https://dl.doubtnut.com/l/_zZIMjMRq7Dm9
https://dl.doubtnut.com/l/_z6shac60SVeC


A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

Li > Be > B > C > N > O > F

Li < Na < K < Rb < Cs

Mn > Mn+ 2 > Mn+ 2 > Mn+ 3 > Mn+ 4

O > O− >O− 2

3. Which of the following are the correct statements?

A. All the actinide elements are radioactive

B. Alkali and alkaline earth metals are s-block element

C. Chalcogens and halogens are p-block elements

D. The first member of the lanthanide series is lanthanum

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_z6shac60SVeC
https://dl.doubtnut.com/l/_pKeljn9aHdUp


4. Which of the following are the incorrect statements?

A. The second ionisation potential of an atom is always less than the

first ionisation potential

B. The addition of an electron to a neutral atom is an endothermic

process

C. Fluorine has the maximum electronegativity

D. The size of the cation is always less than the size of the neutral

atom

Answer: A::B::D

Watch Video Solution

5. Which of the following statements are correct?

https://dl.doubtnut.com/l/_pKeljn9aHdUp
https://dl.doubtnut.com/l/_jXKNHNaERnyX
https://dl.doubtnut.com/l/_3HvuyIbs9SiT


A. The last member of the 7th period of the periodic table has atomic

number 118.

B. All the transition elements are metals and paramagnetic.

C. The maximum number of elements are present in the 5th period of

the periodic table is 15

D. Every period of the periodic table starts with a member of alkali

group.

Answer: A::B

Watch Video Solution

6. Which of the following is correct in order of increasing size?

A. 

B. 

C. 

I − > I > I +

Fe < Fe2 + < Fe3 +

Fe3 + < Fe2 + < Fe

https://dl.doubtnut.com/l/_3HvuyIbs9SiT
https://dl.doubtnut.com/l/_1HWGPsJEplYo


D. 

Answer: A::C

Watch Video Solution

I − < I < I +

7. Which of the following statements are correct?

A. An anion is larger than a cation if they are isoelectronic

B. Out of  and  has the largest size.

C. The ionic radii of trivalent lanthanides decreases with increasing

atomic number.

D. Out of  ion has the largest size.

Answer: A::B::C

Watch Video Solution

Na+ Al3 + , Na+

P 3 − , S2 − , and Cl− , Cl−

https://dl.doubtnut.com/l/_1HWGPsJEplYo
https://dl.doubtnut.com/l/_UUoPXxv7531O


8. Which of the following statements are correct?

A.  of elements increases along the period 

B.  of elements increases down the group 

C. Isoelectronic species have the same nuclear charge

D. Screening constant ( ) increases down the group 

Answer: A::D

Watch Video Solution

Zeff ( → )

Zeff ( ⏐↓ )

σ ( ⏐↓ )

9. The first eight íonisation energies for a particular neutral atom is as

given below. Which oxidation states are not possible of the atom? 

A. 

B. 

−2

−3

https://dl.doubtnut.com/l/_OYWUUQ49Ot0u
https://dl.doubtnut.com/l/_5KPJrcRMu6gv


C. 

D. 

Answer: B::C

Watch Video Solution

−6

+6

10. Which of the following pairs of elements have same number of

electron in their outermost shell:

A. Na, Sr

B. Se, Te

C. Mn, Fe

D. As, Bi

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_5KPJrcRMu6gv
https://dl.doubtnut.com/l/_LgBMgXkENAo8
https://dl.doubtnut.com/l/_n1EG48y9uFQ8


11. Which of the following characteristics regarding halogens are correct?

A. Ionization energy decreases with increase in atomic number

B. Electronegativity decreases with increase in atomic number

C. Electron affinity decreases with increase in atomic number

D. Enthalpy of fusion increases with increase in atomic number

Answer: A::B::D

Watch Video Solution

12. Which of the following statements are not correct?

A. I.P. increases down the group

B. IP of s-block elements is less than corresponding d-block element

C. If  IP gt 16 eV higher oxidation state is more stable

D. IP of halogen is maximum in their respective period

Δ

https://dl.doubtnut.com/l/_n1EG48y9uFQ8
https://dl.doubtnut.com/l/_1LuIScH8l39o


Answer: A::C::D

Watch Video Solution

13. The properties which are common to the elements belonging to

groups 1 and 17 of periodic table are:

A. Electropositive character increases down the group

B. Reactivity decreases from top to bottom

C. Atomic radii increases as atomic number increases

D. Electronegativity decreases on moving down a group

Answer: A::C::D

Watch Video Solution

14. Ionization energy of an element is:

https://dl.doubtnut.com/l/_1LuIScH8l39o
https://dl.doubtnut.com/l/_JmfgNkSKfhbU
https://dl.doubtnut.com/l/_LwfNRpy0qhvV


A. Equal in magnitude but opposite in sign to the electron gain

enthalpy of the cation of the element

B. Same as electron affinity of the element .

C. Energy required to remove one valence electron from an isolated

gaseous atom in its ground state

D. Equal in magnitude but opposite in sign to the electron gain

enthalpy of the anion of the element

Answer: A::C

Watch Video Solution

15. Which of the following statements are correct?

A. F is the most electronegative and Cs is the most electropositive

element

B. The electronegativity of halogens decreases from F to I

https://dl.doubtnut.com/l/_LwfNRpy0qhvV
https://dl.doubtnut.com/l/_dCb9bVEffb5S


Questions Level Iii Numerical Type

C. The electron affinity of Cl is higher than that of F though their

electronegativities are in the reverse order

D. The electron gain enthalpy of noble gases are positive

Answer: A::B::C::D

Watch Video Solution

1. An ionic compound is formed of the type XY from X with electronic

configuration  and Y with valence shell electrons...........

Watch Video Solution

ns1

2. The amount of energy released when  atoms of iodine in vapour

state are converted to  ions . What is the electron

affinity of iodine in eV per atom?

106

l− 4.9 × 10− 13J

https://dl.doubtnut.com/l/_dCb9bVEffb5S
https://dl.doubtnut.com/l/_fbQoFG3pc3Ot
https://dl.doubtnut.com/l/_mr2hgOuup9ug


Watch Video Solution

3. The number of elements among the following, which have lower

electronegativity than oxygen atom, based Pauling scale, is ........ 

F, CI, Br, I, H, S, P, K, Ca

Watch Video Solution

4. The first four sucessive ionization energies for an element are 6.113,

11.871, 50.908 and 67.0 (in eV) respectively. The number of valence shell

electrons is ..........

Watch Video Solution

5. The difference in the electronegativity of two atoms, when the

percentage ionic character is 19.5%, is .......

Watch Video Solution

https://dl.doubtnut.com/l/_mr2hgOuup9ug
https://dl.doubtnut.com/l/_i0drYCYpE61C
https://dl.doubtnut.com/l/_Tmkt24RfKex9
https://dl.doubtnut.com/l/_1ciRF4e0bWZL


Questions Level Iii Matching Column Type

1. 

Watch Video Solution

2. Match the electronic configuration with the nature/property of the

element. 

Watch Video Solution

https://dl.doubtnut.com/l/_1ciRF4e0bWZL
https://dl.doubtnut.com/l/_PPKiY2FXAqoA
https://dl.doubtnut.com/l/_WMLqz31F4Tcn
https://dl.doubtnut.com/l/_HjHIFPaRj2Kh


3. Match Column-I(Elements) with Column - Il(configuration of elements,

and select the correct answer using the codes given below: 

Watch Video Solution

4. Match Column-I(Elements) with Column - Il(configuration of elements,

and select the correct answer using the codes given below: 

Watch Video Solution

5. Match Column-I(Elements) with Column - Il(configuration of elements,

and select the correct answer using the codes given below: 

https://dl.doubtnut.com/l/_HjHIFPaRj2Kh
https://dl.doubtnut.com/l/_wnZCG5m5rO8f
https://dl.doubtnut.com/l/_zxyvZdaRcMyv


Questions Level Iii Statement Type

Watch Video Solution

1. Assertion: The lattice energies depend upon the reciprocals of the

distance between the ions  , 


Reason : For the given positive ion, the lattice energy increases as the

size of the anion increases.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1

1

r0

https://dl.doubtnut.com/l/_zxyvZdaRcMyv
https://dl.doubtnut.com/l/_QwTKhGoQ6e43


C. Statement 1 is True, Statement 2 is False.

D. Statement i is False, Statement 2 is True.

Answer: C

Watch Video Solution

2. Assertion:  and  are isoelectronic but the magnitude of the

ionic radius of  is less than that of  

Reason: The magnitude of effective nuclear charge of the outer shell

electrons in  is greater than in 

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 2

C. Statement 1 is True, Statement 2 is False.

D. Statement i is False, Statement 2 is True.

Na+ Al3 +

Al3 + Na+

Al3 + Na+

https://dl.doubtnut.com/l/_QwTKhGoQ6e43
https://dl.doubtnut.com/l/_2y3MWYeYEr21


Answer: A

Watch Video Solution

3. Statement 1 : Ionization enthalpy is the energy released to remove an

electron from an isolated gaseous atom in its ground state. 

Statement 2 : All elements have a tendency to lose the electron to attain

stable configuration.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 3

C. Statement 1 is True, Statement 2 is False.

D. Statement i is False, Statement 2 is True.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2y3MWYeYEr21
https://dl.doubtnut.com/l/_QYoG1w45gDQY


4. Assertion:  is basic oxide whereas  is acidic oxide. 


Reason: Elements on extreme left of the periodic table from basic oxides

whereas elements on extreme right form acidic oxides.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 4

C. Statement 1 is True, Statement 2 is False.

D. Statement i is False, Statement 2 is True.

Answer: B

Watch Video Solution

Na2O Cl2O7

https://dl.doubtnut.com/l/_QYoG1w45gDQY
https://dl.doubtnut.com/l/_YRym2aAZZPUj


Questions Level Iii Linked Comprehension Type

5. Assertion : The ionic radius follows the order . 


Reason : Smaller the value of Z/e, the larger the size of the species.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 5

C. Statement 1 is True, Statement 2 is False.

D. Statement i is False, Statement 2 is True.

Answer: D

Watch Video Solution

I − < I < I +

https://dl.doubtnut.com/l/_9mjK9D7lhj3W


1. The heats of formation  of the oxides of the third period,

sodium to chlorine, are in kJ  

 

Based on these data, answer the following questions 

Which oxide has maximum negative heat of formation per oxygen atom?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(ΔH ∘
f
)

mol − 1

P4O10

Al2O3

Na2O

MgO

2. The heats of formation  of the oxides of the third period,

sodium to chlorine, are in kJ  

(ΔH ∘
f
)

mol − 1

https://dl.doubtnut.com/l/_QDauwIjZW7Rb
https://dl.doubtnut.com/l/_Wy2eMgQnb0Fo


 

Based on these data, answer the following questions 

Most stable and least stable oxides are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P4O10, Cl2O7

Na2O, Cl2O7

MgO, Cl2O7

Cl2O7, MgO

https://dl.doubtnut.com/l/_Wy2eMgQnb0Fo


3. Ionization energies of five elements, are given below: 

 

Which the element is a noble gas?

A. A

B. E

C. C

D. D

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_s681nEtZ1JNK


4. Ionization energies of five elements, are given below: 

 

Which the element form stable unipositive ion?

A. A

B. B

C. C

D. D

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bED8Ux9LPMDW


5. Ionization energies of five elements, are given below: 

 

The element whose most stable oxidation state is +2, is:

A. A

B. B

C. C

D. D

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tnMAHH2cmTs0


6. Ionization energies of five elements, are given below: 

 

Most reactive metal is :

A. A

B. B

C. C

D. D

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nxb5QVSKqkpN


7. Ionization energies of five elements, are given below: 

 

If B reacts with fluorine and oxygen, the molecular formula of fluoride and

oxide will be respectively

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

BF3, B2O3

BF , B2O

BF2, BO

https://dl.doubtnut.com/l/_FAOHjVPaBsov
https://dl.doubtnut.com/l/_XQzlFQaitXf2


8. Ionization energies of five elements, are given below: 

 

Which of the following pair represents elements of same group?

A. B,C

B. A,B

C. A,D

D. B,D

Answer: A

Watch Video Solution

9. Identify the least stable ion amongst the following:

https://dl.doubtnut.com/l/_XQzlFQaitXf2
https://dl.doubtnut.com/l/_biTSn96qwm3i


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li−

Be−

B−

C −

10. The first ionization energy of Na, Mg, Al and Si are in the order of:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na < Al < Mg < Si

Na > Mg > Al > Si

Na < Mg < Al > Si

Na > Mg > Al < Si

https://dl.doubtnut.com/l/_biTSn96qwm3i
https://dl.doubtnut.com/l/_3b23rwwPcLnC


11. Which one of the following statements is incorrect in relation to

ionisation enthalpy?

A. Ionization enthalpy increases for removal of successive electrons.

B. The greatest increase in ionization enthalpy is experienced on

removal of electron from core of noble gas configuration.

C. End of valence electrons is marked by a big jump in ionization

enthalpy.

D. Removal of electron from orbitals bearing lower n value is easier

than from orbital having higher n value.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3b23rwwPcLnC
https://dl.doubtnut.com/l/_A5gyHsnV7x27


12. Considering the elements F, Cl, O and S, the correct order of their

electron affinity values is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F > Cl > O > S

F > O > Cl > S

Cl > F > S > O

O > F > S > Cl

https://dl.doubtnut.com/l/_eFpHuv5FehRk

